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SPACE FOR ROUGH WORK
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| BN
1 Calculate _th.e. area of a sector whose radius énﬂ arc length gré 6 cm z'md’ 20 cm reSpeétively

@& 120em? (B) 80cm? o |
M 60.'cm2. : : : " (b) 100 cm? ,. : . ' ,_' |
Qb6 G&.lﬁ. eflebedlem ﬁmm 20 Qs.i8 Gérrdﬁ@ﬁm ol L& Casmertls u@ﬁuﬁs&r uq_ﬁ@bué asrfas_&uras.

@ . 120Qe8 . (B) 80Qss |

© 60@ss . (D) 100Q@es

2. If x is 80% of y, then what percent of 2% is y?

@ 0%
| Mezys%' .
©  66%%
D) 80%

x Gréiiruﬁl y-a 80% sréﬂé) 2x— én érm“' speSph ¥ G,

® ew% .
© 66%% -
D) 80%
L .2 45 7 .
3. L.C.M. Of_ "3*, E’E_,E 18 ‘
© % Yy
%, %,%,% eg;ﬂu._nm;bgﬁldn B&Amy Qun@mLtﬂ:g ‘
_ '_(A) _ %8 . _ - _ S ®). A%GA .
Lo % o My
e s . LAFSNs
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4. - The difference between compound interest and simple interest on a sum for 2 years at

8 percént is ¥ 768. The sum is

%1,00,000- | (B) %1,10,000

@f £1,20,000 o @ *170,000 Y
ALEC) su@i_ma;@aa@ 8% eullig eﬁ]ﬁgsg,@m erafiu Lo;pgm am.@ sm_lq.eS@m 2 g GGLIQ]LIIT@ ¥ 768.
erafiler Agreanswnag) ‘
(A)  1,00,000 | (B) 1,10,000
(©)  ¥1,20,000. - (D) 1,70,000

5. ~ 5 men and 2 boys working together can do four times as much work as a man and a boy. '

T

Working capacities of a man and a boy are in the ratio :

A  1:2 o (B 1:3
'M-zzl o D) 3:1

5 ﬂ,amam Lo;pg)u: 2 uwensdt Qamabg Q&u.nélg) Ceuewe 80 weflgen mgpgm R SPLILIGT @mélmgo

Gmmwu&]m Siaralles 4 WLBSTEGW. R e wg)g;w T muu_nan Geuanad Gsmm&saqsu gmmwuﬁ]an

e fgoneug _
@& 1:2 B 1:3
© 2:1 | o @ 3:1
6. 3menord women can do a piece of work in 12 days. How long *mll 6 men and 5_womén take
to finish 'the work? S |

| - @) 10
M 4 o AR
3 D& Sidwg 5 Quairser Y Geumo.)a)u.l 12 pmlaafieh Gm.ug @,ptq_&&lm;oam craﬂm 6 .ﬂ,m’rasm

wHod 5 QuismseT o) b5 Couaaaw STEHEMET pm_a;aﬂo.) Qaisg Qg uir?

@ 20 o ® 10
© 4 . D 15
LAFS/18 - - 4 | o e

R

e v

.



f(6-6-v6-+-6+6)+6
4+4+4+4+4

@ 1
13
L (6+6+6+6)+86
w@uqsn 4.+4+4+4+4_.

7. "The va_iue )

@ 1
© Y,

- 8. Ifx:y=2:1't:he.nfind(.9c2—y2)":x2+y2
o s -

© 1:3

X y'= 2: 1 crafié> (x2 - y2) 1 2% + y° sneRt.

.(A)- 3:5

© 1:3

i 22 v245 .
_W@&_99_49 x 245

(A) 24495
(C) 24485

B)

o

©

®

D)

- ®

D)

®

®

"

13 .

13 -

5:3

3:1

5:3

3:1

24899

24895

24899
24895

' LAFS/18
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10.  The pyrinciple used in hghtmg conductors is
- J Corona dlscharge : '
' (B)  Self- induction
() Mutual induction
(D)  Electro magnetic induction
Blemenad sLgdaehed uwéinu@tb gHgeu T
A qefleuL Lﬁaraﬂg)a;&w |
B) .56".5}@ SGHTL 6D
(C) ufwrdy Ber grer e
(D) LIS]G%I&EITT'I:F):S I

- 11.  Relation between electric field and potentml ,
- —dx

v

@ av==% L ® av-=E
& 5 o E_*”_d%
Bémeod G&,rﬂeﬁlm@w Lﬂwwmﬁwmew o aar Qﬁ"‘-’"—l

@  dv= df - @ dV:-—de—
© E=2¥ ® E=X

12. A paréllei plate capacitor with air between the plates has a capacitance of ‘IO#F What will
' ~ be the capacitance, if the distance between the plates be reduced to half and the space
between them is ﬁlled with a substance of dielectric constant 10.

(A) 100 4F | - _ W 200 uF
© 1pF o D) 400 uF
srHm AroviuC, g @me‘mg,su..@ @&Cﬁéﬁuﬁlc&t @W&@gﬁmm 10 u4F . 5@@&@3@.@@1_%
edier Qgrawsy urdurs GEPEEILLE, diger G Qauah Lﬂdrsrrﬂt_i wrdledl 10 Qameim
WBensmuyu Qurgerna ﬁuuuuu@mQunQ:pg 161@(355@5 Sen areueuaray? :
(&) 100 uF - | ®) 200 uF

© wr @) 400 uF

LAFS18 . & | <



C© kmt o (G ke

L[Sls%r Cauflius eranaiicn SOE
@ kgms® ®
© kgm? L D

13. 1 Wh (Watt hour) is equal to
(A4  36x10°%7 . T (B)  36x10%J
M 3600 J .' - ©) 3500 J
1 ai_oefl (1 Wh) arenugi@ swwonaig)
@A) 36x10°J (B 36x10%d
(€ 3600 J - . @ 3500d
14. . The resistivity range of semi conductors is
@ 10°-10%Q@m - . (B 10°-10“0m
©  10°-10°Qim R " 10?_10'0m
GO sL-gHsafien g@ruﬁdﬂgdu_ erar wHUGen ABHESD
@& 107%-10%Qm - ~(B) 10°-10"Qm
' © 10°-10%em D 107-10'0m
15. | The unit of electro che_m;icai equi_vale‘ht
(A) 'kg ms? . ® kgm?®

kg m™

fkgc’”‘

¢
LAFS/18
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16.  The metal having positive Thomson effect is

Ay Pt
M Ag
- (© Ni

(D) .Hg R

- Gpir gmbsen ef@eney L & Camsnd

@ Pt
-(B)  Ag
(C). Ni
D). Hg

17.  The colour of Fe(OH), colloid is -
(A)  Yellow

®B). | ‘Yellow orange

N Red

(D) Black
Fe(OH), snuois e S
@) s
(B)  wseer aprcss ’
© fsiy
D) - smenw . .'
LAFSIS. 8




18.  rms value of alternating current is

. -'M.O.'_?O'?Io - - . ® 70710

© o063 - . (D) 636l
,.u-a_rrgyﬁm& BlarGanm L gHen rms wdiLy : S

@ 07l . . ® 707l
() 063%. (@ 636l

19. In a acceptor circuit, the value of impedance and current - e
\/ Impedance minimum, current maximum. = _ .
(B) Impedance maximum, current minimum

(C Both im—pedarioe and current minimum

(D) Both impedance Qnd curi'ept max.ir'm‘lm. |
| e;u":uéﬁmésltﬂé’@m@m@wé Lamwg;’sm m@L‘IAA H.
" (A) | L&sﬁr@mﬁfmg a.'i.lg;‘lml.i.:. LﬂalenLl_m Qu(mioid
| ®) @mm@}uq @.,,@m BénGemm1 > Signoid
© Lq;ax@mgfmq, la'm._q; @m@u@r@tb ag,m |
- (D) (SerQenditiL, Lamro .:g,a.u @@:@m Qu@toid
<— S | - 9 ‘L'AF'S.II._SI
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20. The frequency range of wsﬂ)le light in electromagnetlc spectrum 1s
(A) 4x10%Hz - 1x 1013Hz ’

@l’ 8x10MHz - 4x 10" Hz
(©  3x10"Hz-1x10°Hz
©) 3x10"Hz-3x10*Hz
: :Llﬂ.'é'l&ll‘fp‘ﬁ ;Elg'o.mna)wuﬁ‘lé»am@g gafiullen 28 TG euem Qp@é&tﬁ»
A  4x10“ Hz—1x10°Hz | |
- - (® 8x10“Hz —_4x16*f_Hz |
©  3x10"Hz-1x10° Hz
D) 3x10"Hz-3x10Hz

_2 1. Which are true statements:
LD The dark linés_ fouhd in solar spectrum is called as Fraunhoﬁ’er lines
(D) - The central core of sun is called as chromosphere

(IID . Fraunhoﬁ'er lines are used identify elements present in sdn’a atmosphere

T and IT are true . ® IlandIl are true
M I and Il are true - ‘ (D) L IIandIII are true
mﬂwnar SofHéEET Grsmu? S ' S o~

@O @';Iﬂll.l Hpwreneudled sreruuBn smend euflsdr .‘a)qwét@gnndt’r aufisar eraniu B
an sfwuafen mmmﬁugﬁ fpé Ges_lrsmtb eremiu(pA DS |

(IiI) - SurmenGaprui auflaeT apetd @ﬁﬁu auaflwam_oghd o erar geflbhisdr 5dsr|_;6]u_||.’1u®£|é_rmar

@ Toppolleh B HuppdlIsh
© lwpgsllsh @) LI wppoIlsn
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| 22. - Total energy of the electron (E,) is half of the pobentlal energy (E ). What wﬂI be the |

kinetic energy (Ek)‘7 _ - o :
M E, = . . (B +E,;
© -2, ®) +2E,

_ 'ersl_l;[rrsuﬂm Gl.nrrg;,s qgi,mma) (E,) ‘lﬁa)m %mmeﬁa) (E,) urr‘éﬂ eranfied, a;gsarr @mm %mma?lar (Ek)

. Lo@_lucrarm? _
®-. -, . (B +E,
© -2E, | D +2E,

23.  In Thomson experiment the beam of électron remains undeflected when passed through the
electric field E =10° V/m and the magnetlc ﬁeld is B= 10‘2 tesla. Calculate the velocity of
the electron _ _ A ' '
@ 10°ms ‘ (B 10°mis

Mlo’m!s. . )} AlO?m/sA

gmbsen e qu.mu@m uS]arqe)u: E =10° Vim  wpgd asrr;bngm B= 10 2 ’oesla_.
| @mcﬁlu@rq.mlrw TR gTen a;g)a)m eﬁlmmmmgmaﬁlwc&w aeafld) eravd_preflcn ﬁms@mmﬁ

sarESH5 ‘ : _ .
@ 10°mis  ® 10°ms
© Wms L D 1w

24.  In Sommerfield atom model which one of the following atomic §rbip is an elliptical orbit
& 1s | o __\/28 |
© 2 '_'_A‘(D)sd
mmmﬁw@ a@mu@lﬂuﬂm &l,me_ ionent &@&dﬂm agen urra),s 5 Bor e euu,,eﬁleo @@sgm
@ 1s |  ® 2s
© 2p° - @ 3d

T« ' ST S ~ LAFSns
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25. The work function of zinc is 6._8).(10'.-’? dJ. 'Wliaig is the threshold fre(juency for emission of
' photo electrons from zinc? '

(A 1.206x10°Hz o g \/ 1.026x10'* Hz

© 1.0026x10Hz . _' . (D) 102610 He

- ZippErasSen Gmaﬂ@umg e 6.8x107J. @M‘muswé]@pg cro.)aqummsn Glamﬂ@u_u,nmg
- Gapeveuwimen Lwen GFM_&& SFTGeuemr wrg?

(&) 1206x10°Hz . (B) 1.026x10°Hz | -,

©y 1.'0026x1015Hz . - S (D) 1-026><10'f Hz

i aniieeve R Ll

26.  Consider the 'fdllowing statement cho'ose the oon‘ecf answer from the codes given below.
| Asser_tion A) Accordmg to relanwty the. mass of the body changes with velocity.

"Reason(R) - : Electrons . aocelerated in cyclotron with very hlgh veloclty acqmre
' " increased mass.

(A) (A) alone is correct and (R) is incorrect ‘
M (A) and (R) are correct and (R) is the correct explanatlon of (A)

(©) (A and (R) are moorrect . A

(D)' (A) and (R) are oorrect but (R) is the not the correct explanatlon of A) .

-&@mn@m unswkigmer euq.uuan..u.mm erram@ mﬂmum eﬁlmL_mqu Glsrr@muut.@mm

@r,gSluS(Bmtﬂsu @@p@ Cgiray AQsis.
spm (@A) - . mrm.‘i]u.le) errmmsugm uu;. Qurmeflen Beopwreng @m&@mgmgu Qun@w
- mnmu@m -
a;m.,ram_b' R) | k mw@ml_waﬂm G!‘G)SI_IJH‘GM&GI’ T aﬁ& @ms@msﬁﬂm@ Q.p@asuu@m('surrg |
. : - oupfiar Beop a@&lﬂsﬁg@ : : . -

A QA I.DI.'_GLE.SIﬂ R) sy
B QA u:;ng;u.b (R) @l;rsm@m &M (R) %"‘Q (A) oL slﬂu_urrar aﬁiatssmrr@m
© (A) ohpi> @) GranGi> sog

D) (A) l.ogpgm (R) @mw@m &Iﬂ (R) yengi (A) 2 L sfwrer sﬁlarssmam A |

LAFSN8 Rt 2 K o €.



"7,

28.

29,

_ I one milligram of a substgnce is fully converted into energy, then the én'etéy produced is N
@) 9x10%J S ® 1T

y- 9x10'%d ' : ' ' @) 3x10%J

(5 Wved aﬂumh' Blevpuyéres Q_u‘.lrr@e'n WPPUGIOTS g,@mwu&,mqgﬁgﬂm@ub Curg 2 BamGLL YHDOD

@) - 9x10°J . S ® 13
© 910%J (D) 3x10°7

The half life period of N*® is 10.1 minutes. It's life time is -

(A) 5.2 minutes . o - (B) 10.1 minutes

-(C) 20.2 minutes - Mlnﬁmty D

N -éin ieny gy snood 10,1 Sl kisdr siset epu srb

@) 52 P dsar {B)' 10.1_;51@..«'..5@ |
(©). 202 Al dimdr | R (D) apg el

The energy liberated in proton — 'pro»ton cycle is

@ 267V M26.7MeV~ R

©  147TMeV D 147eV

yGrm__mer — chtrll;u.rrdfr &mgﬂm Qmaﬂﬁu@@ Q,;bmé)‘ ”

@A) 267eV . ® 26.7MeV

© 14.I_7.MeV' D) 147eV
18 . . LAFSN8
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30. Arrangé the fbllo_w'ing particles in the increasing order of their rest masses

L. 'ﬁroton _ .
I electrlo'n _' :
III. neutron o - T .‘O
- IV.  photon o - .' o | o
@ n-w-m-1 |  _,3‘(1v;J1—1-u1 .
© W-oO-m-1  © o-v-r-m S
Sereumid g&drmgr Sicupiien ey ;ﬁlmgpugat <t dle gpaufmeis aflemsiubsss ll
L qGryﬁﬁl_erh_ | o

1L  CTeEL e
1L Sy gme

IV,  JGurlimer

@ Nn-v-m-1 . B IV-T-1-II
© IV-I=II-1 _ @ I-IV-I-1I

31. The fo]lowihg Boolean expression represents ————— gate.

Y=A+AB .
@. AND. (B NAND

| OR o | o NOR

- &psargpd Llwen swaun® GHULE ahs uens CaL.?

_Y=A+ZB - A . e
@ AND  ® NaND
© o (D) NOR -
LAFSAS . u e e



32. .

33. -

34.

Which of the following are universal gates?

(A) NOTgate and EX-ORgate = . (B) OR gate and NOT gate
. (C) AND gate and OR gate . | w NOR gate and NAND gate
Spaseim_cubmier Aumg G Hser wiranas?
(&) NOT Gsiwpps EX-ORGs. ~  (B) OR Gailwppd NOT Gais
(©  ANDGswppORGsc (D) NORGsiwppi NAND Gsl
A sinusoi_dal‘cérrier wave of amp]itudeﬂlO mV is modulated by an audio signal wave of
_ amplitude 6 mV what is the amplitude of Upper Side Band (USB)? '
@A) 06mV U ® 03mv :
.M-Sle'-_ o - :(ﬁ).GmV
10 mV aﬁm QsrawL s o oai Siwe ey 6 mV 6iésé Qanam. ansen ._Qqu.GI.J @FDE
ST L;leiaTGu;i)_g)Lb QeinuCiu e GLD& LsSCILL eoL uQler oiss arénen? |
@ o06mv - . ® o03mV
(©. - 3mV | - @ 6mV
The principle of fiber optical cqnimuiiicétion is? -
Aa) _réﬂectioii _ , o | (B) radio réﬂéction .
w total internal reﬂectioh © D 'Atrah.smission
gafl @mwmm QgnLiGen ;{5@6.1&)
@A)  aHAgraRon ' ® GrGurafGymaiiy
© oy adammaiiy @ upiyse
15 ‘ o : LAFS/18
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35.  Which one of the following pairs is not correctly matched regarding satellite communication?

(A)  Geostationary szlatéllit;e' > o éG,OOOKni

(B) Commercial satellite l' . 6GHz-4GHz
W First marimade,satgl]ité o S | :- Aryabhatta

(@) Satellite co_nimunii:ation : N - ._Miéxjo wave link repeater

 QewpanssCamer gacucd ngyl_ﬁmﬁ'q QurwEs ueny &@é@u@& @mmmaﬂso %rg; stwunerg) é@m? -
B yAPonsgomiansr . 36000Km |

- B)  wigs gswud Agm_iny Gaw@m&&(ﬁ&nﬁr . - 6GHz~4GHz
(©€), waligewmd e manrsaiiLiL apgd QswipessGaner :- %Iﬂlﬁ;lut'_LlT' |

(D)' Gsu.l,rj)a)'&és(‘éa;rrd'r S5 Qgm_iy- R - @m&wa&m@mﬁq.mgz@mnw .

36. When a current carrymg oonductor is placed a.long the direction of the magnetlc field, the :
force acting on'it is?

A = F=BI! S \/F=o“

(© F=Bllcoss | D) F=B12t£m0

Ba@GamlLd utyd sLgH 5nm§qu§$1m(§ @e»swru.ms @@g,,srrm agm 1551 Gau.neou@m _

' e&lmmnarg
@& F=BII - ® F=0 | |
(©) F=Bllcoss -~ (@ F=Blltame .

37.  The ratio of Ne and He gases used in He — Ne laseris

4:1 o ® 10%:1
© 1:4 | | D) 1:10° |
He — Ne Goosfié Luian (a0 amysasico Ne wignp He autnuésor orps 98586 o drang) - |
@. 4:1 - ® 10%:1 S 1

© e @ 1:10°

LAFS8 16 R S e




38 Write the type of lmkage between glucose and fructose in sucrose" _

@ G-¢ S Jc -C: -

© ¢-¢, - ® G -G

 5ECITAG, GETECETED, SLIEGLTHD Lﬂmm'ré;&uu;q.@é@m SeneRTLIenLI GT(HSI-

®» ¢-¢ S ® 6-6G -
© G-¢ ® C-C

‘Write the correct example of Tnsaochandes" -

\M’ Raffinose - - ®) Galactose
(C) Starch _ o D Sucrose
Lenry snasmu@a@unar shwimes Gt@g@&sm_mn_ Caip@g®.

@) qqu;ﬂ@amqv - _ ' - (B) srlo)s(zl_u& ‘

()" evLmis N () &6Gymaid .

40 : _.What is the order df Boi.ling point of amines?_A e

| . Secondary amine >Primary amine > Tertiary amine
®) Secondary amine < anary amine < Tertlary amine
(C) Secondary amme.>‘anary amine < Tertiary amine :

(D) Primary amine > Secondary amine > Tertiary ‘amine,

éll.ﬁ‘lﬂ&@‘ﬁﬂﬂ Q&rr@ ﬁmm auflong wingi? :

) | mﬂmu.l auﬂm > gtﬂa)mru.u aquSImS epefinamus e
(B) | mﬂa)mru.l,pq_uﬂm < gflenceri Biién < @e&]a)mu.l Syudlen
(©) milenearul silen > ,@lﬂém;unu atﬂ& < @e&‘la)wu.l auﬂe;r
D) phomm o> mioam s> epefienamn oidian

% . - 17 S LAFS/18-
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43. -

LAFS/18 B .18 A S €«

42. -

C, H50H+(CH )2804—M"__>X+Y

X and Y are , .

(A), Methyl alcohol + phenetole

(B) Ethane + benzene

(©)  Anisole + ethyl hydrogen sulphate
y Anisolé + methyl h_ydrogen su_lphate

C.H 5015r+(015r )QSO4M—>X+Y :

X wpmp Y perpGut

@)  Quie YOSADIED + GG

B) #Csem+ Gueﬂ&m

© &aﬂ@snw+ qﬁﬂw @aplrgen soGul

®) aaﬂ@&nw+6]m,5@mmgm|_mmm@m_ RTINS . o R

Among the following whmh is used an anesthetic e
(A)  di-methyl ether ' M di-ethyl ether .-

(C) _ di-phenyl ether N : o . amsole

EpasaT_cuppier ergy tbuéts@ﬁ@wﬂsé-@éu)é)ﬁ@ﬁmg o
4) ml_-ngﬁé)_nfgr‘r IS Lo ®B) @L- crg@co rr§rr
© - Geani mit R ) SieCse

Which one of the following orgamc oompound, aldol-condensatlon teactmn does not undergo"

(A) Acetaldéhyde - _ . (B) Acetone
Benzophenone | . (D) Ethylalcohol

tﬁ}emm@m &flwé Caironisefie T Gsnmgﬁe} QQ)L_ITO) @gs& cficoan | meQumng?
A) a&h..;no)q.snm@ ' B A CLrenr
© QuaemiGemar (D) aBeaosepre

e e g e i




44.  Which compound does not undergoes haloform reactlon"
(4) Ethylalcchol | M Methyl alcohol
(C). iso-propyl alcohol | N (D) Acetone |

THs Gsitoth Ggmcom LITLD e&]cnarra;@ p_l_l_u_rrg]? o
A) s cg,suagmm) : (B) Qusde syoaanre
: (C)' &G - ql;rusm__re) DSADTED o D) @A CLrar

45. W}uch one of the followmg is the correct order of dipole moments for three 1somers of
d.tchlorobenzene"

(A) Ortho isomer < Meta 1somer < Para isomer
M Ortho isomer > Meta i 1somer > Para isomer

(C) Paraisomer < Ortho i 1§om¢_r < Meta isomer
(D) Meta isoﬁxer > Ortho isoiner > fué isom'ef
@mm@mdrmmgnar L ECamGy Qumfaﬂm @mgn Lorr;o@u.smasaﬂar @@memg SmiySperseier
shlwmen m:ﬂa)s o1g?
A - .:g,l'rgscgsrr wrhilwibd < Qo r 'I.Dll"‘lj)jﬂu.‘lﬁ.)‘< LT rHHwLD

. ®) 2 T5CHT wrHHlud > QLDL..I_rr mnp;ﬂu.:w> wmyw Lon';o;ﬁ]u.lm

(Cj umrer wrpHhud < .%rr,s@gtr mltg);_é] wib < Qu)l_u_rr Lorrmgﬁlu.:m
D) Quiirwrpdlub> .@,ng(%gu mrrgpg{)]u.m > umym mtr;g;ﬂu.um

46, Fu_mérib acid and Maleic acidare’ A . A
(A) - Optical 1s<5me1‘s - o B) Confprﬁxers o
\M Geometrical i momers | (D) Ortho aﬁd parﬁ Isomers C
o ota 0l auﬂa)m angm @moS]uSla; aauSIa)Lo Q,Jﬂu.la)o.l
(A)- gaﬂs &g;;peﬂ Lolrgm‘jlu.lma;ar o L (B) s aqcou)uq mrr;o;ﬂu.umasm
©) Q.[lq.m Lorrmgﬂu.smsm . o _— (D) <grr§(3§rr LHWID Ly mrr;pgﬂmré:&dr

e o »  LAFsns
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47.  The catalyst used in Bergius process for the synthesis of petrol from coal is

@ cuw, . ® Cno,
(C) V,0, - R @/ Fe,0,

aMuReSlamHa G!Jfl’@ll.ld\). aenudd Aul Crreme AsrELY (_Lpa)gpuﬁ}sii gmnﬁl§§aﬂcb DWETLHSS LD

eflenarGous omhHi ,
A)  CuCl S ®B) Cr0,
©  V,0 __ | D) Fe,0, -

!

48.  Example of Lyophobic colloid is |
| g/' Sulphur in water ~ (B) Gelatin
| (C) Protein : L D) Starch
seruLTen sl spwESDE TOESISST B
(A ;;SIHG‘D Fe LT i | (B) Qgar iger

©  uGrmies T @ evuris

49.  What type of complex reaction is, bromination of Bromobenzene?
(A) Sequential reaction M‘Side‘ reaction
(C)  Reversible reaction . (D) Chainreaction -
yGyrGor Queanemear UGTTAGaHMmID AFDIuD cSlenar sr‘l;n,s UMS Sssconen cieven?
(A) Qg eflener - A (B) u&s eflenan A

© \Beir eflenan . N . D) sudad aven

- LAFSN8 - 2 €




. 50.

51.

52,

The sxgns of AH' and AS respectwely, for the following reactlon
012 - 2 clgy '
@ -- _(B> -+

, ++ L SO -

| ﬂmm@m eflencanudlein AH mmgxw AS m@uq&aﬂw Gsar wearpGu,
e, > 2c£(g, _ - _
@ - R ® -+
© +H+ . D A
Why steam is passed to remove away the ammonia in Haber’s process
A Standardise pressure . - (B) Standardise temperature _
(C) Standardise -equilibrium o W Max1mum ammoma formation
Canu @a)mufﬁm 2 (Heurer aw@mrraﬂmrrmm ;55& Somel orgyuiiu@ougen Gprrssm
(A) SipssEmS ﬁlwmuu@g}s : - (B) Qmuuﬁmmm ;Sla)suuu@;sg
©) | sublewew Roouudss - - (D) a@&um SbGwrailur 2 (meunés
In the reversible reecﬁon

| 230% +0, == 280,
Find the relatlon between Kp and K c-
(A) K, = chRT R  ®  Kp=Kcx(RT)!

\f KPxRT Kc : Lo “AA (D) KP—-KCx(RT)"zi
2802@ +02 -\— 2803 ereinp aus.ﬂme) a&‘lmmuﬁla) KPS@ID Kc as@m 2 ¢verr G,sm_.m_;
&) Kp=KoxRT S ® Kp= K.c x(RT)"
© KpxRT=K, ‘ (D) Kp=Kx(RT)™*
21 L - - 'LAFSAS
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53. . The metal having negative Thomson effect is
@  Ag o o vt( Hg
(© Sn . m sb
i@ gmisen efleverey 2w 2 Carsid » :
. ) . ' : ’ - . RN T "l
@ Ag o (B Hg o | |

© S . ® sb | o "'

54, U +n'— Ba. 3,,K):92 + o0 +200Mev J!
The above said reaction is a - ‘ | { !
M Nuclear ﬁssxon reaction . “. (B) Nuclear fusion reactio.n: o :
© Spallatlon reaction - ‘(D) Equilibrivm reacﬁqn iR
”Uzss +on' > gBa'! + 3,31(1‘9_2 + aon’ -1‘-200 Mev erénp e&lwai@@ R
(A) 9_1;&@ Gemiy eflewer B) 5_.;5@ Qeneariiy eflanen . . . _ o
(© ueSlm _aﬂmg;mgj Aever D)  soRlwe @Sl_a)m’ |

.....“.......'_..a...i‘....'_ PR

55,  Glass is an example for

(A) Gaseous state |  ® Liquid state - | .
(C)  Solid state . ' \M Vitreous state :
SRR TIgAITEOgy —_ ;ﬂmmmuﬁ]m o_dirangy.
A anypocen | ®  Brepocwn
(O P e » o) aﬁ]l'_lﬂu_leiu Baoamw (Vittedﬁé staté)
LAFS/18 | S a2 . o«




56.  Which is used as a power source in long mission space probes‘? '

® uves T (B) 0232
‘9/ Pu-238 T @) Pu-241

Ggrrwcogmy eﬁ]m@maﬂ Q,u.m.qes &sogﬁco atﬂa&@umu u-uaru@mgl eTg? |
@ Uzs @) U2

©) Puzss I (D) Pu-241

57. Whlch one is used as fuel in Nuclear reaction in power plants"

M L ® LU

© WU . @ aum

a@uﬁlw ,ﬂmmu maseﬂe) a@&&@ mm&qﬂa) uwu@gguu@m auﬂ@un@m ereman?
@) LU o . ® 02 U™

| © mU?as. ' _ o ;» D) A A92U234A

58.  Which one of the following is used in making Qini:ment for curing skin diseases?

@ agNo, B ® AgBr
&m0, o a
Spseim_auppie é;m Gpmenws @sm_pg@gg;b ;ém;b...mﬂé; as ‘mm@mg? :
W s, moam
© 7ZnCO, o D) Agll
<- . 28 . "'.LAFSIIB
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59, Which is the bond length of Br, molecule?

@) 154 o - 2.28
© 074 T @ 144
Br, @wé&;ﬁ]dr SlenamriiLy Ferd ergi?
@ 15¢ S ® 228
© 074 | - D) 144
60.  The order of ionization energy - :
(A) s<p<d<f M>p5d>f
: o : , »
©) s>d>p>f ‘ - (D) s<d<p<f
- sweluns@b S bpedlean cuflens
(A) _s<p<d<f' o E (B}~s,>p>d>f
© s>d>p>f (@ s<d<p<f
61. The device based on Wheatstone’s bridge is "
(A) . Wattmeter | . A(B) Potentiometer
(O Bridge rectifier \pf Metre bridge

e_avL 6l FwenFaDHlen Bjiq LIl b Seops as.@eﬁl.
&)  anl B L B) Aeengssoned

©) svasapy s@admsH D) Bl swenksmHoy

LAFS/18 24 T e




62. The intramolecular hydrogen bonding is present in
M Salicylicacid (B) Water

(C) M- mtrophenol : ' (D) '.P-nitrop_henol
_ ! : ‘

| @m&&@@@ Blspid smgn)l'_ugd;r Gerarriienus Qameim Gafotb
A A b | ®) i |

© MepGmSames . (D) P-eopiGrmSame

63. Ameng the following which will produce oxecatiens

(A) Lanthanides o \M Actinides

: ©) Noble gases . - (D) Halogens -
SpERT_cupmIeT e1g 2 5CT G;_wu.raﬂmu.x a@mﬂé;@élmg
) orpsomBsar . . ® .Q,,swem@ma{

(C)  uwss mqfuésess’n' - . (D) mﬁaﬂaeﬁ

64. How do you observed the resp1rat10n by Ganong’s resplroscope‘? :

(A) CO2 released . B ‘Raise of water
_ W Raise of KOH level (D) 0, released
' &mnﬂgm ﬁls@e‘nﬂmu Ge’smmﬂné]siw seursonafl gpeib ereusumy oifleumiy?
@) CO,QuefiGugs  (B) i wl G aumd
(©  KOH v @beoumd @ 0, QeuafGuigd

(.25 LAFS/18
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65. - Which plantis used in Test tube funnel experiment?
(A) Ipomea , | ‘(B) Ichornia
y Hydrilla _ o (D) Marsilia

GESTAUTLD SHIGSH G Lianed pu1eiey u-udsfu@g’;gﬁu@él@gg?

(A) _gﬂ@um"&u.m_. ' . - (B) gé;a;rrr;rldﬂu_m
- (O é)gml'_rﬂdmm - (D) wriddwor |
- . . - - ‘ )
»~

s

66.  Binomial of groundnutis =

(A) Oryza sativa o M Arachis hypogea‘

(C) Gossypium barbadense C (D). _Tectona gréuidis ‘

| ﬁ_weta;mmuﬁls’at_-@@ Qerd@Lwir

(A) _' Qé)nsﬁ &@L.QJW | ‘ B) awnﬁciv m@md@un@}ur_r ,
©) STAOGWD UTTUQALeEn . D) QL&EGLren Sgmemge

I'?. " Mental and physucal stress relaxmg drug ginseng is obtain from the plant
M Panax ginseng _ _ (B} Chxchona Ofﬁcmahs | _ o ‘[

(C) - Papaver Somniferum | » (5 Ephedra Sinica

-

e W

wend wHED e Ld BEEsEAN®mbH HOUL LWETLEHFSULED ‘Parblam ey WHHSI Ser_b@D

Fraumd
(&) uremsh ganden S (B) AuGsra i a9fameiay
(©) uﬁﬁnmfr JITL'DGUﬂ_:.QI_IUL'D. : D) Gr.°.|Squn gefiaT |

LAFS/18 . o 26 - o | <



68.. ‘A tissue _ié a
' (A)I Single cell
(B) Two\ cells
f Group Qf cells -

(D) Threecells =~

O cranLg)
@ pah@os

B)  @rein® Qecosor
© Qsirsaian AsrEOY

D)  apénpy Qscsar

69.  Clover leaf model of RNA is called

" tRNA

_(B) sRNA
© mRNA
(D) rRNA

GerTauit @ene mlq.a.l;sé),sés Qaram@pearar RNA »

&) RNA
| - (B) ~ sRNA }
(© mRNA
® BNA
€ 27

;
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70.  The terminal part of the chromosome is

Satelhte ' o ' (B) Centromere
M Telomere _ : D) Kinetochoré
@ng@mn@sn@s&t pfluLEs Geeuny swpsaiuBHns?

A smigeer B Gsen GmAui

© - wCardusr ' - - D) s GLaGsmit

._7 1. The clover leaf structure of tRNA is suggested by

MR W. Holley o (B) ‘Watson and Crick
(C& Wilkins and Frankhn - ' 1))} .'Messe]son and Stahl's
tRNA sfilen gammeuit Gena a.ltq.@ wrfflenw Qmaﬂtﬁ]n;u;alr'r
@ RW.Cwrd - (B) anlsdrwppn s

© el wHp> Lprerdafin D) BAdrsen whgid oL

72.  Which country is having the largest groups of tissue culture scientists in the world

A  America - AT

(C) China - . : . A(D) Japan

a_a)esmoﬁlw @ulﬂ@m Gu rrg 2fs amrmﬂm&uﬁlm ﬁ&mmnuq a@aﬂmmuu&mm&s G&rrsm@erren pn@
Q)  2Quhser . B @pﬁturr

© far D gouner
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73.

74.

75,

76.

What is the name of the book published by Carolus Linnacus?

Species Plantarum ' (B) - Genera Plantarum »
(© Originofspecies (D) DieNaturlichan Pflanzen Familien
. aa(}?r;trmem SenGamuey eTpHw predlen Qi eresman? _
{A) doiediay GlenTmeRTL gD (B) @g@ﬂgn QeTraT_TfD '
©) ﬁmg&\mmsaﬂm@gnmmm R D) em._Gpwnoﬂmm..@mndmudr&umﬁ]aﬂmdr B
| ‘Herbarium of In_diari Botanical Garden’— where is located in India?
(A) - - Chennai 3 | ' VKolkata _
O . Co1mbatore o R ) 'I‘nchy
@‘lbﬁlu gnmusﬁlu.m) ngLL G]gmrr(Sufﬂqu crrru(g, awmpg;mm@?
| (A) Qsaen o ' (B) . Qazneassm S
(© Gsrwdyssn L D)y AmEs PR l
Arrangé‘ the follolwingl in correct order : '
I Sub class : Monochlamydeae
II. Family : Euphorbiaceae
III. Class : Dicotyledonae
IV. _ Series : Unisexuales - : .
- IIE-I-IV-IT B) I-II- IIIIV (€) IV-IILIT (@) LRV
GeTameaaTauperp afwnan auflensudienr erpgis. ‘ L
.  gosragoy ~ GurCenam_gedl Ger - ‘ -
II. @EGoud W CUMTEGWS S , . © .
II. . ey o L &M _g.edlGer ’
IV. aifles s wefllQssenGeusilany _ T
@A) NLLIV-IL (B) LIMILYV  (© IVILILE (@) ILILEIV
Traveller's palm refers to A . -
(A) Musa Paradisiaca - (B) Strelitzia Reginae
M Ravenala Madagascariensis ' (D) Heliconia sp
‘Lwieafin Liaver amaqwgasesuu@mg] : S
| @A) S eom unmq.a\Sltun&n i B do@r..ﬁaﬂiélmrr@ug@@mrr
(©) pruQerer Lol_asrrausrﬂu_lsmﬂan ‘ (D) QepsiiGsrafiur HpHlend
29 S ' LA:FSlls
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77.  Which Amendment Act was prov1de 33% reservation of seat,s for women in Rural and Urban

‘Local bodies . :
M 73 and 74th o (B) 43and 44&
(C) 53 and 54th o . : . (D) 75t and 76
@un‘muqm LHDID pasrrqup &menm_eﬂ aqmwuua;erﬂw Qums@&@ 33 eAlp&sTH @L ggjaséL.am_ '
QUPEIGD 5L G ﬁ@gguj Grgr?
@A) 7By wppd 74 ug o (B) 43 eug wpmib 44 cugy
©) 53 wppid 54 cugl | D). 75 g wpgi> 76 e

78. In the Indian constitution consists of dir_ecti:y’n'ples of state policy is

(A) Article 14 to0 18 : _ Article 36 to 51

(©  Article 13 to 17 I (D). Article 16 to 20

@gﬁw aweﬂua)snmuﬂm 223 Gsrrarmesuﬁlmat Qm;ﬂuu®§§|w G&rmurr@sm @LLD Qumgmm
eflaer _ : : :

A) <14 qpge 18 (B) - 98.36 qpse 51

©) 813 yso 17 L (D) 816 5@ 20

79.  Assertion (A) : The Governqr’s report.-may lead to the deciaratidn of emergency in a State.
‘Reason (R) : The constitutional head of the State becomes the head of the go?erﬁment
' in the state in the event of State emergency.
4 (Aand®) are true and (R) is the correct explanation of (A)
(A) and (R) are true but ®) is not the explanataon of (A)
) Qi is true, (R) is false .
(D) (A) is false, (R) is true

apm (A) - . Q,@‘l_bl‘ﬂm amSla;ma;uSlm am.uumm.uﬁla) ) wrr;ﬂeo,sﬁco onfle Gjb@%lq.

' Aerewenw Asraor( eupamd.

stpamd (R) @ wmfle Opmésy Hoouliar Cung mngﬁwgﬂm &uﬁmmmwuq fHwsren mmmn
' au&nm&g@m Senasurt .

(A) (A) wpgid (R) @rewr@ud srﬂ ®) Gram_:gl (A)-ullen swren endswrgbd | _‘
B) (A) wpgwo (R) @um@m i, eg,«slmre» (R) eremmug) (A)- Qein aﬁlm&swmg;
© (&) sh ®) paupreng

- (D) (A g, (B) s

LAFS/18 = - 30 o &




80.

81.

82

Consider the foIlowiﬁg statement, choose the correct answer using codes given below :

@) India contributes about 60% of the mica in the world.

(i) Major mica producmg states of Indla are Andhra Pradesh, Jharkand Blhar and'

Rajasthan. : )
.- (4) () only correct _ S : M @) and,(i»i)’ are cqrrect . o
' (C) (i) only correct ' - (D) both (i) and (ii) are wrong '

Geneupd mpgismar s@msHL Garam() #flwren @@uﬁﬁq@»ﬂn Caziey Q&lf_l&'.... |
@  2efd@osse pugBids @pHur 60 speSsd LisADs.
(i) <pdHru lﬁlq@g&w guitseRT, STt nHEID grdSTe %@lﬂ@&l DIDEST - o_;ougﬁ Gsu_uuu)

WIEIRISET S @GLD. _
Ay @ wlipw sl e B ® wibglltb’(ﬁ)ftb-“ﬂ
© @@woeost . (D) @ wppd )b seug

. The term IRRI refers to

@) International Rice Research Instxtute ‘
(i)  Irrigation Rural Rice Institute
(iii) ~ Irrigation Rice Research Integratlon .

(iv) ' Indian Rural Research Institute '
(4) (1) and (ii) are correct . \/(1) only correct
(C) (@)and (iv) are correct - » s _(D) @iv) only correct

L

IRRI srwugsm eﬁ]rﬂmn&sm eTGIen’?

'-(i) _ International Rice Reseal:ch Instltute N

(ii) Irrigation Rural Rice Instltute _ B
(i) - Irrigation Rice Research Integratlon A
(iv) Indian Rural Research Institute '

A) ) whgd (i) sAwreree L (B) ) u)n.@uo enﬂu_marg
{0 (1) wpyb () s O v) o B sflwreng

When was the “R1ver Informatlon System was inaugurated first time in India?
(A) June 2016 , ~ (B) July2016 N
(C) February 2016 L w January 2016 ‘

“shsar  LpHlw  pswDd © - semgpdlund” GIGG?U@§ @ogm@gﬂﬂw : m.nGurr@@ @pﬁmmﬁlw
SIOURSHILLLE? :
A)  gOar2016 . (B) g@mwQOlG
© Qogeuf2016 | _ (D)  geweu 2016 _
o st . LAFSis
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83. Who won the gold medal for the game 25 meter Rap1d Fire Pistol Men Junior event in
Junior World Cup during March 2018?

(A) - Mandeep Smgh . : _ ' (B) .Jashpa-l

W Anish =~ A (D) Pradeep

g@cnﬂu.lrr 2 wad Camlenu wrié 2018 -& 25 B quﬁll_ anuwf :Slcn)r_a) 9feRéd BRGL USESD

: quam)a.mu.urlr? _
@) wegofm L ® giute
© edw . O

84, Inhuman being’s fertilization of ovum occurs in which part? -
(A) Corpus luteum o ®) Vaginél tube
M Ampulla of uterine tube ‘ ' D) Cervix '

maﬂgaﬂm DIERTL_LD &@mgjw cruug@u&]a) ;ﬂe;@u:? .
(A)  a&muev Qj[l_lq.u.ll.l) . B Lﬁlg)uq @@nm
() _&@U@u prengdlen gy U(e_r,ﬁ (D) Qerefldey LG

85. Statement] :  In the cerebral cortex the left hemlsphere is connected to the sensory
receptors of right half of the body

Statement II : In the cerebral cortex the right hemxsphere is connecbed to the. sensory
‘ reoeptors of left half of the body.

(A) 1 is correct IT is incorrect d I and II are correct
(C) 1isincorrect II i is o_orrect D) TandII are incorrect
ahﬁ)gl _ _: Quamapener QL g ala)rjs(}?a;rrm qmaxﬂ 9..!.@3]601 RS L.awTiTey mrrrmﬁ&@l_m
@mm&&uuLGmmg ‘ ‘ _
anppll . Gupueer aeg amq&@swm L;maaﬂ 2 1 cSler @l_gjq;o e-aamirey mnmﬂ&@;m '
_ @mm&suuu_(amm@ -
A)  TeMIlgaupy . . B IuwpmoIlsd
O Isapllsd @ Topgo sy

4
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86. The an’othér name of Vitanhin ‘D’ is . | _
N1acm e " (B) Pyridoxine | . D
M Calc1ferol _ ' o (D) Ergosterol '

. ifien Der wp@Quuir

(A) -',ﬂ'u.lir.élsh;“ - | (B) Gf)ulﬂl;ﬁé;oﬁ!éo'r .

(©)  sofAumed - D) eriGamsvn g

87. Water Joss happen throilgh expiration ié ‘ A A
\/4001111' . ® 600ml
(© 1wemd (D). 100 ml

Qasefis seunsiBien gpeod qﬁ)ugéiﬁlﬂwﬁnﬂﬁ A6y

@ sw0dd  ®) 6008

& woss - @ woaa

88. - '_My.asi;henia Gravisisa
' (A) Wtamm dé'ﬁé,iency disease » Infectious disease . . I _
._(C). Kidney 'di'sbrd'er.. | . | M Autoimmuné dlsease | o
- wwrevSefiwm amreﬂao TenIg! @ﬁ ~

(A) msm_l..uﬂm @a);putr@ Gp:rm AA - ® ‘IAQQ«;bg%Gptm'J

'(C).. ﬂgﬁu&s @ﬁ’mun@ E ._ : . D). .a;u_n‘gimt_smq .gjaSmLtq @mm@ Cpmu

e s ‘ ‘ LAFS/18
- ‘ - : '[_Turn_over



89. What is the ﬁrst antibiotic dlscovered in the worl'd"
Amp1c11hn : _ _ (B) Tetfacyélin
V Pemc:.lhn - o (D) . StreptomyCin
2 wfld @W@gc&w &mqﬁmuu (" crﬁn @m@guﬂrﬂ LOBH Grgy? '
@) ouaAden i ®)  Qconewssdanan

©  Quandidien - (D) i GriCLreowfdr

90. Pain during urination and yellow discharge f_rbm the urethra of male are t}ie'symptorﬁé of |
.(A) Syphilis B Plague |

wGonorrhea . . ) Pneumoma

cg,mm‘ﬂa) eﬂgm_%tru Gursflen Gung moS]u.qu: m@am ;ﬁmp@w eﬂgmﬁﬁu qmm@@w ,ﬂu‘au.o’-
Glmeﬁiuu@ggm ap@pnu&lm emﬂ@gﬁlm? h

® 89w B GG

© '@m@aﬂﬂun o D) HCwrefum

9L Major Histocompatibility Complex (MHC) genes of mouse is located in which chromosome? -
@ ™ chromosome ' - (B) 4% chromosome
«. 6th chromosome )} 5t.chromosome
se@dLsafier g Hs0 Qurmss 8§érbaa"u'_|_a>mﬁlq (MHC) erppg ¢CrnGuonGsmdéd ﬁ._sirdrgﬁ
B  7-agy @CriGorGemd B -y ECmGorGsnd

© 6apelmGorGemd (D) 5-ageGmGorGsmb
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92

94.

the body due to mvoluntary tw1tch1ng of voluntary muscles
Assertion I Huntmgton s c_h_orea is eaused by autosomai recesswe gene in human.
' (A_) I and II are incorrect M Lis oorrect II is incorrect |
{0} Tand 1I are correct B o D) lis mcorrect 1L is correct
. ;nmg}gu I -. T o@mgiiien Aarflur Gprufldy @m&@ ,sa)gr&m Gsrrcrrr@;mg .-_qmm;ﬁ_lsﬁ gr’raﬂu;rﬁi@
o ' - ememow e 2 L.ofléh SILBS (PIRWITE s, B 2.5 (1) ifiTeyser © GTL-TSED.
 oampp Il @ hLe Qanflur (Bpmu mccﬂ,sns;aﬂo) 2.t & @qur(zmrr(ﬁ&mﬁ]ar 9@@@ gaﬂmrm) '
o | Gﬁmww » -
S leppellseg . ® lefllsap
(O Twpgid I ef . o ®) Igaugllsh
<In Ka.tyotypmg process chemwal colchlcme is-used to stop mlbosm at; wh1ch stage‘? -
(A) Prophase : ] - M Metaphase '» '
(O Anaphase | - (D) Telophase
&CorGurGemb Ggr@Liy ma)l;ru:._m §lumﬂas@u> Q.pa»gpuﬁla) uumu@gguu@m Gmﬁu Glun'(r_r,ew
srodfen, Gse)assrﬂar mmm@a ﬂnﬂaﬁlmm aps sLLSH0 Bnsd masgn?
(A) uCSl;rrr(‘éuao ' . o (B) Gml_L.rr(Sucm
©  eemGued - (D) wGenGus -
What method is used to dlspose large amount of water carrymg relatlvely sma]l amount of
‘chemical wastes? G ;-
Surface mpoundments : . (B) Landﬁ]ls A
'(C) Incmeratlon : s D) Bio-remediation A
& ;ﬂ;amq Gm@mas sgﬂm&mm& Q&nmﬂ_ gymanonen ﬁmq& answiner cn.o(y)cs)ﬂ) uu.laru@zﬂmy?
@) GopumiGe epgeaipse . By Hasfo Arovsd
O afsgs smbuanssd | D) eifiug Siey
85 . LAFS/8

.' Assertio_n_l : The dlsease Huntmgton s chorea i is charactenzed by uncontrolled ]erkmg of
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95.  What is the incubation period of fert;’lizéd hen’s egg?
(A 16-18 days . ® 20-21days
(O 24-25days - | M 21_—22 days_
as@eqmm Gasngﬂ (y:a_a)l_ufﬂar a;ml_srra;@to STDW eTeicuaTay? |
A  16-18 ptrl._&m - - (B) 20-21 praer

© 24-5prisir D 21-22pmad

96. - Milk of Jersey cow has a charactenstm yellow colour due to the hlgh conbent of whach of the

fo]lowmg" _ _ A et

() Haemoglobm o ) (B). . Melanin . |

M Carotene S » D) Xanth‘ophyll . . o . i
G&mﬂ Ben usésaien LT LD@}«%TI’ gﬁ] D& 5rrmruu@w§m(§ &w&m'm THE Quirgper mlyamm?

- (A gﬁcmn@c:msam :  B) Quaaid

©  sCymga D) empGsmas

97.  During brooding of chicken, how much of floor space has to be pr’oviAd'éd‘ per chicken in

poultry house?r ) , )
M 500 sq.cm o o @) . ‘100'§q;cm o
(© 200sqem - | (D) 400-sq.cm

&EHF mmuu&;ﬁm R - G&n@& BEHFEG ety uuunﬂlamasr s @a)L_Glsuerﬂ aaﬂu

Geusm@m? A
@A) 5005088  ® 108G B
©) 2005.@&15-_' o | ) 400 5.Q5:8 |

' LAFSA8 N s o «




98 .- _ﬁakh it.
o (a) | Basic goods . . II.A \ C.yc.l.e:,. re_ftjge?ab&fé - - o o
(b) Cap_ital goclidél i a  2. | Plywqod_, pipé .
._(g). _Co‘psmr;ér goods 3. .Ferti]izers and;chéiﬁiégis_
'(d)- | Interiﬁeaiéte go_odg '_ 4 Machineries, engineéring' goods

@ ® - © @

R T

® 3 2 i 4 .

(c)--',_z,-..._ 3 4 1 | f
. J 3 4 1 )

Qi-__ur@{sgaé.

(@) ailq.uua)i_uuam_m&ar L Lﬂﬁ&lﬂfﬂlq;, @aﬂr’fsngarﬁ Quf__t}

‘ (b-). Wﬁn'us&n-_mssir_ oz Qevaragc. Gm_n_l

(g) psia LTy gaiT | 3. 2. b, @rsmuer QuirgLsar

"}(J}: ‘@eoLdaan ummdn_' L4 @QupSyaser, QuiBwe Lem_thise

(a)' ®» © @

RPN - 2 =

o 2 3_._..: | 4_..- .

© 3 41 2  _ S = | |
€ A S ' LAFSNs
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T 99, Match.

(a) | Firsf Fi-ve Yeg;r Plaﬁ | L Eqixity anci sogial justice

(b) Second Five Year i_’laﬁ 2. Removal of pox-fert'y |

(@ Fifth Five Year Pian ‘.3. Rapid Iﬁdﬁstﬁaiizétibn'
| (ti) | Ten_th: Five Year PIarI1 : | 4. Agriculture |

@ ®  © e

@ 4 3. 1. 2
B 3 4 1 2
M4 3 2 1
®) 2 3 4 1
QurmSss.

() pserd gjsgrrain@ﬁc_i‘_d; L sWwgeud wWHHID sapsHd

N

b))  @rarLmb gHgnearh HlLb CUMIGHLOGNLE 9@%5’_
() mgnﬁ'&tﬁpn&r(a b 3 ellegeurar Qgﬁgﬂénﬂmmrrg’éo

@ '-uggﬁmMﬁm@,@r_m. . ‘4 Gaameimeno

@ ® © @

@ 4 3 1 2
(B) 3. 4 1 2
©+¢« s oz
@) 23 41
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100. In 1934 who was elected the Congress President at Bombay?
(&) JawsharlalNehru  * (B) Subhas Chandra Bose
w Rajendra Prasad - o o ®) Vallabhbhai Pétel
1934—9) umurru&]su pml_ng);p &nmaﬂg@m ga)coeurr ngeﬁleo Gsu;og‘)] Gu;omeurr i
(A). &m&r’r@nd) G;s@ S (B) &urraa. &gﬁq (Burrao _

© @uGgpdy Grerg D) edeumn LG

- 101 .._How; many members signed the Indian Constitﬁtion? A
@& 214 - W’zsf;
© 204 o D@ 264
AeHu adﬂpmmmﬁﬁd\ aggman 2 gUenitaer >@&Qm@§§|;u_rrﬁse‘rr?
@ 24 @) 284

.'.(C) 204 ‘ i LT (D) 264

102. All India Women conference was organized at

S Pune ., ® Bombay

©) Thane R : . (D) Sata;a‘.

<de RiHu wsafit LIETEH B @LHD Gtd |

(A) Lo | ' o ‘(B)A ubumd
© gew - @ epmw
« | R T A  LAFS/8
' § ‘ B ‘ ' [Turn over



'103. The LCM of 2 numbers is 207 9 and thelr HCF is 27. If one of the number is 189 then ﬁnd
the other number is y o _ o

A 298 - -\/297

© 397 _' (D) 498

| @ucwr@ cramsmﬂasr Lﬁeélg Gurrga U@ eredT 2079 BuGum Qur@ QJ@ ereior 27. aﬁco @ cTeiw 189
ererfled .g[@,s,s TR aneRTs &W@Iﬂlq.. . _

@ 208 ¢ - (_B). 297
© 397 . @ 498

104, If24=3B=4C.Thenfind 4:B:C

@ 2:3:4

® 4:3:2 ‘ ’
6:4:3

©) 20:15:2 -
24=3B-dCaehd A:B:Camar - L . . .o
@ 2:3:4 e e
® 4:3:2 |

© 6:4:3

®) 20:15:2

105. A student mulnphed 4 number by g instead of § What is the percentage error in that

calculation? - - A
A  34% , ’ (B) 44%

© 5% G ea% o
R LT ge(l_r, ST ERERT -g— crargu Qu@a;@mgm@r, uﬁwms % crafq_m ng&ﬂeﬁh_l_rrw SIFTTEH
| SipHs m&ﬁm q;ou@u: sgaﬁgsu L‘i]a)pa; srmrrs |
(A 84% o - B) 44%
€ 54% . S D) 64%
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107.

108,

If the dJameter and he1ght of a nght clrcular cone are respectwely 12 cm and 8.cm. Then its

slant height i 1s I ' o o
chm' | . (® 20em
© soem . . (D) 96cm

Gt cm_t_a; salbi9lén 1D mmym 2 uIfid @:penm(ku.: 12 Qe.8 wm@;m 8 Qg5 Graﬂa) él§667 srru.[u.u;n.o .

Teng) :
@)  10Ge5 . ® 200688
© 30@ss . - (D) 96Qssb

The: penmeter ofa rectangle havmg area equal to 144 (cm)* and s1des in the ratxo 4:9 i 13

w ‘$2em o B) 56cm

(©y ,6'0'cm' o . . (D) 64cm

@@ Gs@wapﬁm uuuq 144 (Qe By craﬂo) a;g@mm_mu UESEISET - 49 Grmgn sﬁ]ﬂg;@eo :

- @@%mn@n@) aiwsm_lu aa;p;omsq srcueuarm?

@A)  52Gs8 R (@B 56Gs8
© 60@ss . ‘(D) 64Gsib -
Accordmg to tﬁe Boolean Equatmn, the expressmn A+ A 18 equal to-

@ A L S ® A

- il sberug e Ly A + A agp@é swbd?

w 4 ® i

© o B - B
& 41 o - LAFSn8
g : : : {Turn over
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| 109. '. If the base of a cone is not cii'c'll:ll:.ar then, it is called .

 (A) circular cone | | o
M obhﬁue cohe

. {C) right _ciréular cone

(D). oblicjué and circular cone

&;Lbl_q]dTallq.I:Il_ln‘&Lb aul L augeda @_é)aia;-craﬂdx i) S SGLD.
@) il miby |
B)  smieys miby
©)  CpreuLs siby
D) smisay wpmd a1 Lb smibyy
110. The arc length of a sector is 66 cm and the central angle is 30°. Find the Radius .
' (A) 166 cm. - : = , (B) 140 em. .
© 122em. | | --.dmscm, R
SAdrallan famib 66 om b eoiowiEGanarms 30° Qs i L Gamewri i S Ten ey ib smai.
A 166Qs.8. O ®) 140084
© 122Qs.8. - (D) 126 Qs.i5.
UL 1 qep - “bb,. find the value of 3+ (3x—1)
- a o o
o -3 A |  ® -15
© -1 . D 2/3
a*b=—a4b—-,6raﬂ$i>3*'_(3¢.—1)sir|.n£|;n.|5nams.» A
a+b e
@ -3 - ®) -15

© -1 ®) 2/3




112.. The mole ratio of 802 and 02 m contact process

_:'(A)lz q(zl

© 3:1 - (D) 1:3

ng@@a}muﬁlm 302 u:g_r)gxu: O2 HGD @cm_cu.a o aiven Guomed a‘ileﬂg.m

@ 1:2 : ® 21
© 3:1 - ®) 1:3

' 113. A and B together can do a plece of work in8 days But A alone can do it in 12 days How
J days would B alone take to do the same work? _

24 days o . (B) 25 days
(©) 23 days : - (D) 22days

em Caumaawu A, B @mamw Garr;agl 8 ;bm_aeiﬂa) apyour. A ol @G am@mmwmw 12 mm_a;erﬂm '
apLiuimi. B wl G sidiCeaumaemu agamen Brisefids (pulunt.

A 24pmisar T (B) 25priser
(© Bprisa . o .. D) 22 prisar .

114.  Which of the statements are correct or Incorrect?

-D -Electrostatlc sh1eld.1ng is the process of 1soiat1ng -a certain reglon of spaoe from
' * external field

- ID . . Itis based on the fact that electric ﬁeld msule a conductor is mﬁmty
&) LI correct
(B) 111 mcorrect
©) I incorrect II correct |

W I correct I incorrect

&gammmgm aremey eﬂﬂ? ey FaIp?

D Heow L&maﬂn.ie) gs@uq@pmm Grasrugl qmmﬁlarqmgﬁe&@pgl Gmaﬂuﬁ\m B0 @;ﬂut&lu._ u(gﬂamu
pelenioCiIPEsId !955?@4 G- A
ID) @pﬁ&@m, am_gﬁuﬂen a.l_u@ﬁufﬂm xﬂama)w @)q.aﬁldil %m Grmu,sm gq_uuan.uﬁleo
' sewdng A
@A LIlsM
® LI geumy
(O lgapllsh
D) 1sAIlgaup

€ s - ' LAFS/18
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115. State which of the follo{zving statements are ﬁrue
I. - Electric dipole kept ina umform electric field will expenence a torque
II.  Electric field is equal £0 negatlve g'rad.tent of potentlal
III. ~ Electric field is a scalar quantlty

\M I Il are correct

By 1, III are correct
(C). 1III, I are correct .
D) I, 11, III are correct

égmml_ a\ﬁﬁy'&aﬂé) eTen6u &rﬁ u.urené»m? | _

L &rerHemyesid Ber @@(y)maﬂ gasrg;u PAUBBILL LT 2ig) ﬁ@uq eﬁlmmm o_am@m
I Heémyes Qedlereng aﬁn&@g&]uﬁ] LULCL IeTanpsss 5&@5@& &b '
HI. Blen s Qaidley gm dvGsaait . SHSTQUTGLD. |

A LI &M
By II, Il &M
(C) IILTsM

" LILUIsA-

116. In the case of insulators, as the temperature decreases, resmtance
(A):  Decreases ‘
" Increases _
| {C). Remains constant
(D) Becomes zero

QeuliLy ;E]ana) GODUJtd Gurrg] uS]smsrruq Gulr@m&crﬂm e §a’:a_

@  sopys o S o BN
-(B). .é@sfﬂsgm : | ’ S o |
(C) Lorrg'ul_ng_l -

D) sPurgid

117 A toaster operatmg at. 240 A% has a remstance of 120 Q, the power is

(A) 400W _ S B 2w
480 W . _ | D) 240W |
240V L&mm@gsgﬁw Q&‘U.IGJLI@I.D et @G mfludler Lﬁlmgan_ 120 Q erafle L&mﬂmm
(A 400W R B 2w ST

(C) 480W | (D) 240W

LAFS/18 o 4 S €




‘ ) 118. The penod of rotatmn of acharged partlcle ina umform magnetlc ﬁeld does not depend upon
(&) Charge - . T ®) Magnetlc mductmn : BN

M'Velocity" : (D) Mass’

 yen 5q;b§ﬂuw§ﬁcb eyt t_Liumengudlés @umgm HergyniLid QU sisafan sewaey CHID TH@aI

QUTHSSE SIO®
Q) Begind . (B) SIHHUTL aiurgg_f,l

© fasGoss O Ead

11'9. Which of the fo]lowmg statements are true‘?
| ‘ Current sensitivity of a galvanometer can be mcreased by
() . Increasing the number of turns in the coxl
(ID Increasmg the magnetm induction
1D - Deoreasmg the area of the eoﬂ »

(Iv) 'Increasmg the oouple per umt twist of the suspension wire N

® mm.
(© HLIV
) 1.!1v_'

&ps&mn_ a.mg&s@m s[ﬂu.mmmm — A
' stra)e.latrnﬁt_l_lﬂar BenGanmL o-emitey yn_ugs@,s a@&ﬁs&s AA
(I) ' smﬁw@qﬁm.mgaseﬁm aremeflimaniy SPsMsEs GouenBn
(ID &WMM@ a@&ﬁl&s Ceuam(Bid o ‘
o (ID &@aﬂm UL Geps Cauam(id
aw Ggsrrma;eml_um_l_ s uden 911@)@ a&lmsgz:&&nasr @@uq eﬁla)mu.l aﬁsrﬂm Gsuam@m

@ LI
® 1,1 ,
© NIV
® LIV
¢« .  LAFS/i8
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120. In a coil of radius. 10 cm having 100 tﬁrn carrying a current of 1 A, the magnitude of the
'~ magnetic field at the centre of the coil i is ' _ ' S

P 22x100T

B) 4zx107T

(© . 87x10°T

D) 5 xx10°6T |

10 cm syrapw, 100 &;ognmmu.;m Qasrmmt_ &wtﬁlae;@aﬁd) 1A L&dr@arnLLLB Qm@cun@., :&@Qﬂd‘f -
owuSHe gHUGL sMbss Sremn_d A : 8 '
A  27rx107T
B) ~ 4zx10*T

(€)' 3xx107°T
®) 5zx10°T,

121. In a step up transformer, the transfdx"mer ratiokis

@ k<l | S ® k=1
-"pf k>1 S D k=0

RO THH Lﬂmm;ﬁluﬁle} @armng);ﬂ Nz k g

@) k<l . C® k=1
© k>1 | . D k=0

122. Pick out the wrong statement In transformer energy losses

(A) Hysteresxs loss can be. mmnmsed by using silicon steel
w Copper loss can be mmnmsed by using thin wires

(C)  Eddy current loss can be minimised by stelloy
(D) Copper loss can be minimised by using thick wires

&g;emmmeym mmnm &mmmg CaipAs®: wmnm@uﬁla) qrmu@m ﬂmm @@uqasaﬂeo -
A pLEs QliwLs Gopss s vied vweruPdpgy
B) smly @Lpusnus @pés AQuaeiiu a;l.m_‘is;ar ummu@;guu@é)mg;
©)  sype BenGammir Bylueus gopss QL dhamis uumu@gguu@ﬂmg
_ -- D) sl @;pumua; GPDES gtq.mmrrar a;l.mﬁlsm uu.:aru@ﬂuu@eﬁmga
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123. In éln aé c_ir'cuit with a éa_pééibbrohly, thé current ﬁ/ill be
(A) Iﬁédiné Voltagé by ﬁlphase djffefence' _ |
J Leading voltage by x/2 phase dlfference »
(C) Laggmg behmd the voltage by zphase dxfference L
(D) - Lagging behind the vqltage by z/2 phase _dlfference
uSlaTGg;asﬁ LﬁLGLb 9_&1@1 S ac éag‘),rﬂ@, \enGenmL Loneng| ‘
| :(A)_ Menanspgens ol 7 &I-LD @&@@ﬁ&ﬁ @@a‘s-@ﬂb
(B) dmm@gﬁmg a. z/2 'EI'_L;.L'D @pé;@wrré;él_ AmEGD I
©  Heregpppos s 7 st GGl @@_s@,m .
(D) \L!.Slsisraflr@;;g;g;mg AL 7/ 2 &L enGenrsd QméE0

124. Whlch of the ;following.rays .é’re travél]ing with_ velocity of light? |
@ "a'.-ra_ys.__ ' | o o
an  p-rays
(III) y-rays
aom» X . rays

(&) TandII
@B IIandIIl

&@#&@L@@yﬁ_@ﬁﬂuﬁd{ HasCaissidr Qmw& amq,u.nA aa@a)e#afr‘r aranau?
@O, a -sﬁ;'r&éﬂ .' o | A
D B -sfliser _
@D, y -sfiser
@V X-sfiser. .
@  Topgnll Lo
®) Il opgo I B
L (© ileppelV
@) IluwpgoIV
a7 o LAFS/18
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125. If Ags AW,J.,;, are wavelengths of X-rays, uv rays and mlcrowaves respectively then wluch of

the followmg i8 correct?
@ A=hy=h, L ® A4,

\/.lxd,;,,;l,,. | ” (D) /1;,0>,1m=,1‘ -

Aes Ay An PG X—asﬁrrseu 7)) mg;rrs&,@ﬁm m;pgm mw&(kxm ammaﬂm ammﬁdrmsw arafich

. I&p&sam_mﬂ)gm g arﬂu.lrremaxg)g?
A A=h,=d, B A>A,a,

© A<ig<d, D Asdea

126.  Atomic spectrum should be

M Pure line spectrum

B)  Emission band spectrum
- (C)  Absorption line spet_:trum'

E 13)] Ahsbfption band spectrum

DIE fowrehan Gtﬂm_!gl

@ gu aufl Bporeme

(B) @maﬂe&]@ m_an_ Howrene
- {C) o_Lsmﬁ auf jﬂmmmm

- D) elseiulen Bpwrenes
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127. The wavé number for Balmer series at long 'wavelehgth limit k
@ R _‘ (B) RI4

© 3RI24 : '¢('5,Rf36”'

~

un'sbitnr'r-mﬁ]msﬁ‘d)l Gu@m a@@;ﬁé& @M SEEHHS »
w & o ® R4
© 3Rz o - .53.!36
' 128. Which of the foll'ow'in';g stat‘e’ménts are tnie?
'. (I) * The cathode rays are a étréém.qf ele’ct.rons
; r(II) '_ The él]iptical orbits of electron i:n..the atom weré prop‘io’se_d by de .Broglie
_ '(IH)_ Ca‘n\al. rays cén p;odﬁce fluorescence -
@ TandI o ‘AA(B) 11 and 111
© 1u ;;hd_m.-- _' - \{‘I‘and‘m |
&@Mml_ SaDEIEHE@DAT #rﬂu'_l.rrar.cmm aTl? |
M Cesé(‘ég;rr@&&ﬁfrsd} m%siﬁu@ti TGN ShOD - T, _
D B Sigmyeilés cre.;t‘_l;rrrsixrasaﬂsin ﬁérm(.n.ﬁurr@g é@gﬁdﬁé e@;ﬁlua;r’r q-n_ﬁlurroSl
.(.III) ;wgmﬁﬁad# gefiTgeme a_;s.as’m..rrés@ﬁ .
@) Topgol o . ®n mgbglb‘lil |
| (0 I‘,IlwujagubIII'} . f(b) Almmbm | |
€« 49 o . LAFS/8
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129. Which of the .following statements are true? _
L Photoelectrlc effect can be explamed on the basis of quantum theory of light
II. The photoelectrlc effect is mstantaneous process .

To produce large number of photoelectrons the cathode ‘of photosens1t1ve materlal is
coated with high work function matenal

JIII-

1L, I
(© LI
D) - I,1II I

Epésam_aipmer sfwmen s araas?

I seafidlesn eflenenancy @aﬂ uS}szsr @mrrcmLm Q&nerra)a;u.‘ﬂai a{u}uuml_uﬁla) aﬁlm&mnm
II. @aﬂuﬂsﬂ eﬂlmmm @ 9_|_amq. ;_f,]asgpeurr@w |

II.  efs aanafseasdio g TROH_TNESDT z@emrass a;@s Omaﬂ(}’u_lgogj Dped Camaim
- gofl e airdimen 2 Coons yssrang CasGan® g LI BESGLD. .

e

@ LI
@) ILII

\
© ILII

D)y LI Hl

130. The number of frames of references in the universe is

(A) zero
® 10 :

. W infinity
(D)  9billion
e;eo%r:.&,ﬁd: 2-arer @HLumuisefie crcimenfilgans
@) a4 |
® 100

- (©) (ynq.sﬁlwrr
- D 9 9eeSlwen
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131. Which of the followmg statements are FALSE?
| I.  Nuclear reactor is based on the principle of uncontrolled fission reactlon
II. © Atom bomb i is 'based on the principle of uncontrolled fusion reaction
- IIL Hydro_ger_l bomb is asi example for nuclear fusion reaction.
A Tandl ' |
® IMandIII
© landll
(@) LIandI

égpssm'n_ snmg;ja;@m FouDTETEnEY sTa)eu? ‘

&@M@ Lcne)u.‘ﬂm g,sgmw &l.@l_aum_;og) a@g&s@ |§Iareq eﬁlmar %w
IL. é‘@@“"“‘i—“‘ phHgIoud SLOLTLHD AGESDH Gamentay efienan @0
IIL sngmu_ugsa @mn_lrsagl Sigsam Qeoena dlmanss cr@gg&ssrrg@ %@.
A Iwpgw II

'(B)I 1T whgd 11T |

©  Tioppo I

@ . LI wpgo T

. 13.2. I_ri @ -decay, th._e dhange that occurs in the daughter element is
o (A) afomic numb_ér decreases by ohe» o
(B) mass nﬁmber.incfeases by four
(C) ' proton number remains the same

' J _ neutron number decfeases by two

-éla):ssﬁlar CGung), Gl gaﬂm,sﬁa) @rgpu@m DTHDL
(A)  Sig crein engy @wmum
B Hoop crein proie HffsREGD
I' (© ' I..[GI]’!I’!_I._ITGI!T oraanildans LOMDILILTS
(D) '.ﬁgﬁgna}ﬁwmﬂms@m@ SoODUD |
« o st o+ LAFSns
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133. . The equation showmg relation between currents 1n a transistor Cll'Cl.llt is

MIE_IBH B L ® Ip=Ip+Iy

IB_IE+IC o _- | () IE_IB_I

2l g FreTal gL 5@@@) Lﬁim(‘sarm..t_mm@asg @wa_(ﬁu.m.rrresr Qgsm_rnﬁkmmss @gﬁ]&@m sLoemum(p
A) =Ig+1, o -~ B) IC~IB+IE ' .

134.  Which of the following diodes is operated in ‘a reverse bias made?

A P- Njunction - - MZenetV

(©) Tunnel - () LED

| L‘:’IG&TQJ@LEJ .a)l_GthrGescrﬂd) GenGanmaE; srinded Gswci)u@a‘.lgj Taau?
(A) PNspd = . ®  Qeenit
©) Led S @) LED

135. Since the mput impedance of an ‘ideal operational amplifier is mﬁmte
its input current is zero - .
(B) 1ts output resistance is blg_h A
©) _ its output voltage becomes independent of 1oad resistance

D) - it become a current controlled device

@muﬂu Qawedry m_®|_| Qu@s&ﬂuﬁw a_ma?@ Lﬂm@m@nuq W llensg). gymaund . »
A  siga p_mq‘F@ BemGanm_iib &gﬁ] o

B) e QeuafiSp WengeL siflan

(C) Sigen euefui G Benanqpseid Geuaﬂu.‘L@ um dmgan_mm 3:rrrg,§lt;rrmm BwEELD

D e BerGarm & & _@LiL rn_(Bs 5rrg;atmrra; WwrED
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136,

137,

@) 1.005 KHz, 1.0001 KHz and 0.9999 KHz, 0.995 KHz

In super let FM receiver if the incomming -frequency is 150x10° KHz what will be the
frequency produced by local oscillator? _ ) '

(A) 160.7Hz . SR ',/’160.7 MHz

(C) 1607KHz = (D) 167KHz -
o5 swsdl Ofiéen FM gp9ito feou sfiGaer 150x10° KHz psiulLms e el siwe
@u.:g)gﬁu_mso p_mugﬁ quuuu@m a@nQeuem Grenen? o ' '
@A) 160.7 Hz - S (B) 160.7 MHz

© 1607KHz (D) 167KHz

Ina broadcastmg studio a 1000 KHz carrier is modulabed by an audlo mgnal of frequency
range 100 - 5000 Hz what are the mammum and mlmmum frequencles of USB and ISB"

(A) 1005 Hz, 1000.1 Hz and 999 9 Hz* 995 Hz
B) 10.05 MHz, 10.001 MHz and 9.999 MHz, 9.95 MHz

M 1005 KHz, 1000 1 KHz and 999 9 KHz, 995 KHz

(o
R gaSluqu PowwusHd 1000 KHz earid) oo 100 — 5000 Hz aueny SiBT@eueir Gp@&s@eﬁm
Qocll o.amtitey engansudenTed uerum)m G&uwuu@@mg aefile Cuauss wHL SPLLSSL

L eLuSlen Qugslo, Hmw emﬁn@mm&m srmm? -

@ 1005 Hz, 1000.1 Hz wpgiid 999.9‘}1‘7., 995Hz

®  10.05 MHz, 10.001 MHz wimid> 9.999 MH?, 9.95 MHz
(©) I' 1005 KHz 1000.1 KHz wphgd 999.9 KHz, 995 KHz. |
©) 1,005 KHz, 1.0001 KHz wpgi> 0.9999 KHz, 0.995 KHz R

53 o " LAFSN8
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138. The compounds sodiﬁmrbenzoate and potassium metabisulphate are used as.
(A)  artificial sweetening agent : food preservative

(C) “antibiotic . _ [40); i dyes -

Cemquwib QuenCGsrGui’ wHED QuItLTHwbd QLoL’_t_na)usé}Gu; Ao S &L

vwetu® Elapar.
@A) G}eu.ug)m& @aﬂu yé mmgl_lq‘mn& B) el Qurmmer UNgENES
©) @m@uﬁ]ﬂ' crﬁrﬂurr& ' . O arru.rtorr&;

139. Which of the fo]lowmg act as the propellents for rocket motors used in space vehicles?
@) Liqudo, @ Liquid H, |
) LiQuid N, L - (D) Liquid propylene

eilensoisaia umwu@,sguo préGac.  CQuml L risafich ag,g@un@mrrs &mengpggm srgl

QewdLPdpg? _ ' |
@ g0, ® gaH,
©) é#ra N, ; B : - (D) ﬁqsu qquuﬂla?aﬂ

140.° What. is the name of the solution contalmng equal molecules of D(-l-) glucose and

D(-) glucose"
(A) grape sugar ) (B) cane sugar
W invert sugar ' (D) non - reducing sugar

.

@@ sOTENDd D(+) @@G&n&m D(-) @@5@5@@ 0 sianelled BBHSTRD amq&aﬂm Quiwsir

‘srman?
(A) @l;rrrﬁms FTESRT " - (B) &@lbqé er’r&sam
©  aBispp sisseny D) 8D s sidsm
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© 141, What product is formed after 2 moles of aniline treated with carbondisulphide? .
{ S- dipheny1 thio urea . : (B) "S. — phenyl thio urea

(©) S -—triphyhyl thio urea _ D) S- diphenyl urea

awm - @mé;aa@ @géﬂ@ﬂmm. _a;m'rusinml_&@a)u(BL@ efenanyyfius Q&u;_luLb Gurg Camammyd

A S- ml_lﬂmarw g,(%u.m gsg,lﬂu.m ' By S — Gevared sGum wfwn
Cy S- q.mmﬂma!w gs(Bu.m Q,rﬂu_m : D) S- em_l_‘ﬂmaré) apflwomw -

.

142. Whlch one of the following compound react thh Grignard reagent to form carboxyhc acid?
“A) 'Fprmaldehy_de o . ® Acetaldehyde
| (C)  Acetone ' - ’ ) W Carbon d10x1de .
ﬁlﬂmnn@ snyestl srg;@n_ar eﬁ]maﬂq ) p@] asrrrrucra;seﬁlas auSlc%a)g g,@eﬁ;ogj
(A) ..urrmrrmq.smgm@ R . (B) a(élu.nmaq_mgm@

©) S Cwar _— , (D) asnrrummn_wau@ B

. 143. Which one of the fo].lowmg compound is in wmtergreen 0115
. Methyl acetate - (B Methyl formabe
‘M Methyl sahcylate R . T (D) 'Acetyl salicylic acid
cfam_idfen cramenawruie) o areTy A
@) Quopflo APLOLL o B) GusSod SumiGor
'.(C) Gmgﬁdﬁno)ﬁ(‘sé)l’_' = o (D) ézé]ﬁmuéwrrdilélc;ﬂésauﬂmb‘_

& - | 55 o ' ~ LAFS/18
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144. Phenol reacts with formaldehyde gives

W Bakelite ' . B Malechi’»cegreen
(C) Malonic acid - (D) Tincture benzoin -

Seméd umordg@anBrear eflaa@ur (G ———— o ,s@élgb@. ,
(A) Gusésmer. : ' ' (B) Cuamasl Lsaws

©) " wvGarafs dewid . D) gmsst Auénsmen

145. Which oné of the following d_oes not have .a - hydrogen

: - CH, -CH-OH
A CH,CH,OH . (B) - [
| a - | CH, .
CH, -CH-CH,0H o o
- © | g cH,-C-OH
.~ CHy o |
| CH,
erdle) @~ el e @b .
| - ’ CH, - CH-OH
(A) CH,CH,O0H . .(B) T
o : . : CH,
| CH
C.Hs - CH - CHzOH ’ ' I &
© L ®)  CH,-C-OH
_ " CH, _ . P
: CH,

146. Omdamon of glycerol w1th blsmuth nitrate. which gives

(A) Glyoenc acid S . (B) Glyceraldehyde
Mesoxalic ac1d - (D) ~ Oxalic acid

eﬂaﬂsurr@m Qeviog snpn..@n;n_ o\ _6n Q,&Gﬂgcmmmw Qawuwyb Gurg p_mn_rreugy

A) ﬂaﬁaﬂﬂ& S|fen o (B) Seflagradn.map®

©) BGsn =25‘5;4:#0:“;151&; equSlé)Lb_ . ' D) sevrels sufens

N
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147. Which one of the followmg reaction is not feamble"
@A) Zn+H,S0, - ZnSO, +H o 'Q ® cu2+ +H, F>Cu+2H+

% Cu+H, SO —>CuSO +H . ) Zn+CuSO, - ZnSO, +Cu

lﬁlwm@aleareum myem gsmaﬂmsu.ma; ﬁl&@ng, Gﬁ]GDGUT crgl?
@) Zn+H,S0, L ZnSO, +H, | ® Ccu +H, —>Cu+2H"

(© Cu+H,S0,-CuSO+H, - (@ Zn+CuSO, »ZSO, +Cu

148. - Ionic product of water at 298 K is

@ K, =1x10'mol’dm® ® K, =1x10""mol? dm
© K,=1x10"mol’dm™® \W K, =1x10™ mot? dm™ -
' : ¢
298 K Qautiuflencoudiay Sl aqmasﬂu_h@qué_;& wé\ﬁq —_— BB
@ K, =1x 107.-(}3L[)ﬁ6§\)2 Gi_-LB_'s 2 ' ®B) K,= IX].O-»?‘GLDNé)z [~ THY. o
© K, =1x10"Goré’GLif® D K, =1x10™ Guond' G5
149. Tyndall effect is ———— kind property of colloxds
A) Kinetic p_rbpeﬂ;_y S B Electncal property
© Chemical prbberi;y ' o M Optlcal property
(q GBOTLD Aearay créLig Spomisaen ——— wuq@m.
(A).- @m@sﬁ]wﬁ) vewny - (B) Baremd ._j@q
© GCaduuduery (D) @aﬁuﬂwc’o uey
e s . LAFSNs
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150. Unit of rate constant of a reaction can be calculated using the formula
@) MOl(lfn)' lit®Sec™* N (B) lit®" Mol - 1)Sec

©  Mol® ™ Jjth-gee? M 160 ol G- Seg-t

T Gmﬁeﬁlmmtﬁm eﬁlmar@mas mngﬂo&] uSlan SIVDEE semaslL_t) uu_:anu@u) FOELIME)
@A)  Mol®P)ith-gec? B 1it0-" Mol®@Vgee

©  Mol®itt-Dgec? . (D) LtV meldm gee!

151. Which one of the following _stateinent 18 correct?
(A)  Entropy of the Universe remains constant, enexgy of the universe remains constant

- (B) Entropy of the Universe tends to_a maximum, energy of ‘the_universe tends to a
maximum '

M Entropy of the umverse tends to a maxunum energy. of the umverse remains
constant ’ ‘

(D)  Energy and entropy of the universe tends to'a minimum

Gémeumid spgraeiies erg) sflumeng?
A siem_gden eram’ CrmQ mrrmrr,sg; aisun_p,ﬂar L DOID mﬁmugg ‘

B aam_gﬁsn carGrme sifsu s seraa Cprid o_u.mpg Q&l‘fﬂﬂﬂ'@L @@5@.9 asmn_gﬁar
B DOEID af,ﬂsuul_& T ) (an&ﬂ e_u.mmg QsremGL @méebd

1%

©)  scn_gHen erem_Ggm9) &qul‘& Stemencu Gmusél Q_UJIQBQ] errmr(BL_ @@G@m aam_gﬁaa -
LD wIPToeD @@&@w |

) @;dm_g,@d;%@wm. ST sran_ GymIuiid GeopbHLL S Srerenauts QuipPlsdea
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152. An exéimple of a cqn_;__plexgompound having coordination ﬁumber__4 | R T
@ K[Fe@©N)l . . ® [Colen;]Chy
©. Fe@04CL, @ (CuNH,),ICL,
DineRTay CTERT BAGH(E QHmERTI GsitpsSpsnen srengy
@ KfFeCN)yl ®  [Colen),]Cl,

© FEoNc, @ [CaQE)Cl,

153: 'Whick of the following staté:héh‘t'is correct with réspect to Central metal atpiﬂ? :
' {..; (A) . .-accepts-electron . . U e Mgccepts the pair of electron

(C)' " donate electron - - D donate pair of electron

w8 Cans a;uJasﬂ é{tq’.ﬁlﬂ@Liﬁéﬁ gg’p&aﬁn_ aThs snpm sM?

(A) GTOHLTTENET TG . B) EPwent cTETIDET FHSD

(C)  TELTTENET QUpmIGLD _ | ) .(D) ‘ @@éﬁr TROSLITEHET QUPHIGD

164. - Pick the complex used as anti-tumour drug

¢

Mms‘[Pt(NH:shClz] o | - ®) trans-[Pt(NH3)2012] | .
(C) cis- rPd(NHoz(Noz)z] (D) trané-rpdmﬂa)zmoz)z]

G,sa:mufﬂa)mn @g&l.tq.&@&@ sr,@n‘ m@pﬁm TS almaq (Bsmom ummu@&lmg?

@ Ae-PUOH)CL) . @) wrs- {Pt(NHa)zclzl
© - fo- PANH),MO,) @ réncs - [PANH,)(NO,),]
€ o - 59 | ‘ o " LAFSNS
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155. Which one of the fol_lovfing_ i_é éxa,mble of inetal deficiency detect?
4 Nacl© | (B) AgCl
© CsCI | o e Fes
5@56&&_@1@@&7 & LG@.)H’& Gpcmgnu:ru;.m&nm a@g‘,@mm_(a wing?
(A) NaCl - : (B) AgCl
(©) - Csal | - (D) FeS

- 156. . What is General electronic configuration of the transition eléﬁxents?

@\ | (n-1)d° ngt-? M (n-1)d'% ng'-2

©)- tn -1)d'"%ne? | D) (@-1)d°ns’
Qe fleows M_m;ﬂ:&éﬁs&r Qu mgIeuTan érw&&qndr o~ Carp0sd.
(A) (n- 1) dO-lO_nsi*2 | . ‘ ' (B) A (n- 1) dl-‘lo ngl~? h

© @ _'1)('11—5 nsé N D) (n—lA)do ns‘»

157. 'Choose the wrong statement regarding KZCr20

- (A) It is a powerful oxidizing agent
®B) It is used in tanning mdustry

(C) Itis soluble in water B

M It r'educés ferric sulphate to ferrous sulphate

K,Cr,0, -® Gurrgm,s,sml_lq_w geu pre sappengens Cairey Asig aapg)s.
K B B fipps delgCappid> )
®B @ ngmu,saﬂ@m Ggsrr@msrra)mufﬂa) umaru@,sguu@élmg; A
(©) 88 bild sopusmuug »
D) @51 ..Q_uu‘ﬂs_ mGul__a_)l_ 0 s@UTeD FOCULL s @aigpéélm@ -
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158. Match the following :
' _Alloy

| (a) ~ Bronze
'(5) | Brass
(¢) Nichrome

(@ Gun metal
: @ ® ©
S os
® 3 1 . 4

© 4 2 1

Spsam_cupep G.urr_@ggja :
T Q_Qmir.sésmmm :
(a) Gauamsob
() Ggeer.

() oopaComb.

(d) guursd 2 Ceoraw

(a) ®» ©
@& 2 3 4
® 3 1. 4
© 4 2 1

®) 1 2 3

<«

Composition

1. Cu=87,8n=10,Zn=3

2. Cu=75-90,Sn=10-25

3. Cu=60-80, Zn=20-40

4. Cr= 15,' Ni=60, Fe<=25

Qe

B N Cu=87,$p’élO,Zn=3

2. Cu=75-90,8n=10-25

3, Cu=60-80,Zn=20~40

4 Cr=15Ni=60,Fe=25

61
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169. The shape of PCl, is o
(A Pyramidal o | . \{ Trigonal bipyramidal -
(C) Linear ' o (D) Tetrahedral

PCl; - cuigauid wng? |
@ G . (B wiCsrar H@HAndE
(C) CoiCam.@ Quig.auId o _ (D) prengpd

160. What is the shape of p-orbi‘ta'ls?. : _ :
(A) Spherical . o B) Clover leaf shape

@7 Dumb-bell - @ Bor©)
p q,mﬁ!l'_:_rrémaﬂsh QUG RILD 6TEITET? _ A .

© Loudagend , D) ® ez (C)

161. Assertion (A) : - Inter molecular hydrogen bonding is formed between the two molecules of
: the same or different compounds. :

‘Reason (R) e Hydrogen bondmg 18 possible when a six or ﬁve membered. rings can be
' formed. - _

(A Both (A) and (R) are true and (R).is the correct explanatxon of A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
Ai is true but (R) is false

D) (A)is false, but (R) is true

apm (A) P possapsErsfleulL emapl rger tﬂlmamqsar @(Sr; Sdwg Geupul
o Gamorusefien Grar®H W&m&@&ﬁm.@m a@mrré];ngl
- &ngemiD (R) : RS ae)e)@ S0 DIGNESET QST CumETLIF (Zsmomasorﬂa: ey
: e meundlps;.

A @ u:gpgfm (R) @rem(puw s Gugub (R) cremugy (A)eller sflwrer aflarssid _
B) A wigd (R) @rew@o s e (R) erémug) (A)eflen mﬂu.mqr elerasid SHEO®D
© @A) adnug sh gemmad (R) TENLIE Seumy ‘

D) A aenig pap gyams (R) aeny shGw




162. Some of the light sensitive sée_d§ cér;.gerr_n_inate bjz the t;'éatmént of hormone is
# Awin - (B) Ethylene
,/ Gibberellin B ' D) ‘Cy‘tokinin ,
@pmé’fé‘,ﬁ@[&@ @aﬂg GCaaaluBb clogsd, @@'@@aﬂcm(’ém W merés g[cén@tb @frr'r(%mri@ -
@ abedar . (B)  agHelan

©  @opedan - (D) esiGirwsaller

163. _Thé: gas evolved dﬁﬁng_ respiration:is ‘.

(C) Nitrogen o %Carbondimdd_e
 sinfgedi Curgi QuuefiuGd sin
@ ggedge T ®) ewlg

© mpf.u;’résr o SO R (D)»jf‘strt’tuéﬁé)%&éao@

164. Which part of _t.hé plant is most important in photbsynthesis? :
(A root (B) stem

"leaves .7 (D) flowers
o o A A

gasCsisms pmu.@ugm wEdu 5“@-"7 2 iy .
(A Gaufsér | . f(B)‘ FCH o |
© @ewss (D) weisd

_ . . : C [Turn over




165 Clonal selectior‘l is from
i _ '(A). Sexu:ﬂ reproduction
_ | M .Vegetaltiv.e propagation
«©) . E;;ternal characters of plant . ‘ | . R

(D) Based on gene structure

GGoamrein Ciray penp ‘Grsh%ﬁgj

A  ume @ @@u@u@mm

B) sreuy Geari@ LI &SLD

© UDSCETDDE®S SiaLlieLwins

D) 'ﬁ@ammﬁ@mmaquumLMIr&»

¥

166. Employing genetic engineering téchniqu‘es, Potrykus of Switzerlhnd and Peter Beyer of
Germany transferred genes of Carotene from - - . '
(A)  Oryza Sativa
(B) Avena Sativa

©) - Chrys'ant_himum'

MDaffodils _

iyl Gurdlufwe Asmbie gLu@mm @ELITSTR &@Lsﬁéugﬁg'pﬁ;@ Cur_ s, Qgr’rmaﬂ BT
SCLrGuuly gy Huicuiaer sCrmgmen 2. HLsSH sliugp@ smyemonen gevenr GN5050ES STGUFLD
| (A) _ @mu§n FenL_our | | .
B) edenm scm_s;urr
© ﬂ@g&ﬁbﬁm& |

D)  Laluge
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167. Match the following :

Name of the organism S _ Haploid set 'of-chrorhdsc)me
(a) .Arabidopsis thaliana L7 | R o N - | X
() Paddy U e s R |
(c) Garden ﬁeé | - 3. 40
(@ Sugar cane '_ | o 4012

@ B © @

® 1 2 3 4

© 3 2 4 i

™ 4 1 2 3

G.u'tr@ggs: - o A

' Lu&’llﬁa@ﬁéf@uur’r | @;i)d)mmtu @CrGuonGemd

' (@ 'am..‘ﬁl_r_rmﬂdogneﬁlmnmn 1. .‘7

®  Gpé R DR

-(c)- _cgngmu.iua;ﬂ_, 3 40

@ seuc A 12

@ B © @

@ 2 4 1 .3

® 1 2 3 1
‘© 3 oz 4 -

®4 1 2z 3

« T e - LAFSA8
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- 168. The function of cytokinin is increase

.(A)- Cell elongation _ ‘ B) 'Fru_i-t- initiation
W Cell division o ' (D) Differentiation
: mm.@urma;aﬂar TNG m&@&ﬁ]&aﬂmgl? ’ ‘
' (A) Qs> Brflugser o (B) - zafl e maunssseans gnmr(ygsm

(O GCsavd@flge - - : D) Gmgun@agm;gw .

169. A weed plant has been engmeered to produced a blodegradable plastlcs (Poly hydroxy

- butyrate or PHB) . S
M Mouse- eared cress - (B) Zéa Mays
“(Cy  Oryza Sativa . (D) Avena Sativa :

crg;,srrmm.o wrLQ GurrpSTuSlu_:m LPLD &@mmsuur_l_ asmeng, §Ira1m.o @maoq&@ (uneﬂa)gol_umseﬂ '
GG —PHB) @mmmu&]w .ﬁa)gsam)& Qsirfpg) ‘

A) e‘raSl&er 206 @ﬁlip SeurLd : B) Acﬂauncumio

(C) gegsrsialanr (D) sieflemn sl eur

170. C4 pathway is takes place in
leaf of mesophyll and bundle sheath oells

B) leafof mesophyll cell
(©  leaf of bundle sheath cell
D) . all part of leaf
Cs graugiisaiics gefaGsigms por_Qumub G ib )

@A) @eatiesHs wboib shep 2 ap Aswsdr
®) @muﬂm% Sl .G -

- ©)  spep2ap Gsvaaficr _Bid

o @@@uﬂél‘ Sy u@@sdﬂ@m B
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171, In mﬂorescenoe in Ravenala Madagascanensm is o o
: w Compound Cyme - S ® Compound raceme
'! . © Branched Spadix = . (D) Simple raceme -
Jras@erem @L&N@&lﬂ@@d}ﬁﬂ@ grrmuwésl LDigp&

(B) &L s S . (B) . sl Qrdo

(O Awaps@Cugsedw . . (D) pelss Grfd

172. . The Osteoscleroids are seen in
' (A)  Seed coat of crotolaria : ' M Seed coat of Plgum
.~ (C) Pulp of Pyrus S (D) Petioles of Banana

..gj,qu.(ku.msimﬁiaﬂmij@ sTeLGD UGS
A .@GUWLGI;WQJIﬂMN-@%MWQ - ." B) uﬁgqmﬂuﬂ@éﬁ]mgqmgp

(©) Guissmlersasds @) arepteeide stby

173. Which is called as Libriform fibres? o
M Xylem fibres - - L B Phloem fibres
(0 Sclerenchyma ﬁbres - - (D Xylem parenchyma

SIS Limit prigen eres aqm;pa;esuu@uww

_(A)_ c.wmm BiEET o . (B). ‘anrrrif.n’b mrﬁrsdr»
©€) vdlafpenension gﬁrrr‘meir . (D) st LFYEISLON

174. 'This 1s a Déad Tissue | i A A )
(A) Parenchyma . (B) Collenchyma

| w Sclerenchyma _ S D) A Cholorenchymg'
B3 o6 1ypp HsaunEd: |
(A) - ungénaswr L ~ (B) Gsrada@swon
© | aodefrenenaion - B . » (D) @Gmﬁ@m&mu
« T . LAFSns
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- 175.  The theory of Separation of Powers was initiated by _.

.(A)_'_ Blackstone . _ | . _ (B) Madi’son - '

(C) I_bck - o M Montesquien
a@asrrq GfeSener @&!TL_I.III'L.GOI_ am;ﬁlu.mn

.-(A) ﬁmm@unar B . B) CGuygen

© s (D) oranGleidy,

176. What is ‘the name of the scheme for socio-economic development and empowerment of

~women through self help groups"
(A)' Janam Suraksha o : M Swa&ain Sidha
(C) Ganga Kalyan_Yojana - | - - (D)' Sarva Shiks‘ha‘ Abhiyail_' :
Quietraoficr s@& Qurr@mtrgn‘u waunuq.;_nsms HW e_gsﬁls @@mm memm Guamsar a;@&mrw
Gum UG G&tulqm Qu_l_m 6r5y? ' -
(&) ggamﬂ S&a ‘ . "(B) sww _aégﬂ A
(C) ERST a;dmrraisrncu.mggam B | - (D) sr'rc;J élme;i‘l.ﬁlm»rrdr

-

177. The atmosphere is mamly heated by which one of the fol]o\vmg" A ’»
| (A) Dxrect rays of the Sun - ; (B) Reﬂected solar rad1at10n

W Long wave terrestnal rad.mtmn S (D) Burmng of organic matena] |

l_ e.laﬂmml_e)m Osuuumml_tu (g:sﬁtu wrumﬂmnsammmg: ﬂmm@)mmwmym ag?
(A) @tﬂuaﬂm Gpmq.s aﬁmﬁm o (B) @M @aﬂ tﬁ]t}ﬁusﬁluq .

© qa&‘luﬁlar ,Sm&..aa)mﬁqr adiraizd | D) Ls@uQuno_r)amarcnﬂm _
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178, Indlan Space Research Orgamzatxon (ISRO) successftﬂly launches an’ earth observatlon .
satelhbe CARTOSA'I‘ 2 dunng the year o ‘ ; '

@ August 2016 © (B) June 2016
(© Octoberz0t6 M July 2016
aarrran..rmrL.-2 Tenm 5,1151 u:g)gxu: Hle BiepLosents &m&naﬁﬂs@m Q&w;pmm@&nmm @gbﬁtu ;g,urrws#l
eﬁasur@a.laﬂ asgasm GruQu:r@gl A@LSwg? - »
B)  aEdC2016 . : U ®) g9a2016
© | SEGLIUT2016 | - O @ O@w2016 -

179. IMOC refers bo __ o
(&  Indian Medicine Common Council -
(B)  Indian Metro Central Co{m'cil -
W Indian Medicine Central Council
D) Indlan Med.lcme Cent_raj_l Commuﬁt& e

| IMCC cran_l,sat eﬁ]:ﬂmn&sm -
| @A) - Indian Medicine Common Councﬂ
(@) Indian Metro Central Council
(©  Tndian Medicine Central Council
D) | Indian Medicine Céntrai Co:hmur;ity

- 180 World 'I‘uberculosm Day observed every year dunng whlch day‘?
MMarchu S . (® March2s
(C) ‘February 24 R . (D) March26

P m&@pnu.l Hand cw;u‘ur(g\(‘o’grrgli: e prefid éan_tﬁltq.ésf.lu@ﬂ,fog[?

(A) miE24 o - - (B) wmE25
© Goref2de o (D) wmis26 '
€ S 6 . LAFSns
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181. Statement] : In Myopia, light is focused in front of the retina;

Statement II : "Myopia can be corrected by placing a convex lens in front of the eye.
(A) IandI are correct
(B)  1isincorrect Il is correct

(9] I and II are ihcorrect
' y Lis correct I is incorrect

. - Sy .I _ ﬁ;;uurrrrmmu&]a) Qaﬂwﬁmm A fisdenras wpemunaCe @aﬁlausuu@é]m;oar

sppIl é]l__l_u UNTeaIeII @Qﬂ@@mﬁm (g)a)u: sHQelwemd,
@ 1 m;j;gxm I s |
tﬁ) ; Iga.u;m 11 &

© Tuppis I gaip

@) 1sf I gay

2. . Each gram of _carbohyd.réte is capable of yiel_ding energj equivaleht of
) 9 3 Calones
« 4.1 Calories
© 8.2 Calories

(D) 7.1 Calories

-

1 QM'snﬁGuﬁ@@LGuLtq.d) Q_GQ‘.I.IT@.I]) sGenflulién sieray

@) 9.3 8Com
®)  41sGemf
© '5.2_ sGafl .
@ 7.1 sCanf

LAFS/18 - R €




.183. .Ma’_tch‘ .the _following: |

@ Ch_blera L Yefsinia pestis
(b) Plague 2. Neisééria gonbrrhoea
(c) Syphi;lis 3. Vibrio cholera'
_' @ IGohorrho_ea 4. Treponema palhdlum
@ ® © @
w1 2 3 4
® 3 4 1 2 -
© 4 3 2z 1
s 1 1+ 2
Qurr@,sgls
(a) _&ll‘a)lJ'ﬂ' o | I P Grfré]aiﬂu.lrr‘Ququ.duA )
() SCers 2. PewGsfiurGsrGamun
C© A9 s @m_amémmgscr,—._ )
o 4 lq.rﬂcuﬂaﬂmn urroS]L..u) ) |

(d) an@mmﬁu.m o

@ ® O O

@ 1 2

® 3 4 ' 1- 2
© ¢ 3 2z 1
(D) 3 1 _4- 2 .

184. Whlch one of the following is a protozoan dmease‘?

© African sleepmg smkness B (B) Measles :
(C) - Cholera o - D Typhoid fever -
&@Qﬁ&u@mséﬂé srg QGman_Q&wmn&ase)tr{o 2 @@L Cpmi?
@ .ﬂ,u@mugmemm@ (B slibew
© &g - (D) eLunu@ gron
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185. B Lymphocytes mature in . : _
wBone marrow (B Thymus
(&) Heart o . - - (D) Liver

B-fbCGurensl (Raer @,oﬁrwé] u.:a%u_qﬂa T

(A)  erguby wEHEH I ...(B) PFLOG
©  @suid E D sede

186. The tissue of the original donor is grafted Back into the same donoris
| @) . Xenograft ) B (B ’Allogr_éf‘t . o
M Autograft o . f (D‘)‘ Isograft

QsreoLwreflLifimbs Qupiui L S& Q«srrwﬁq.n'r‘aﬂ BLmECE QurmSsILHWL &yl 68 QUi

N (A.) G&Ga‘m’ﬁ bl Mool C . - . (B) a]d)(ga)"ﬁ mr.°.ﬁlC.
- (©) %LGL&&] )Ty : - (D) gcsrr&lqn.‘.ﬁi
/

187. - What is the name of mobile genetic elements?

&) Barrbody B R ® Plasmidé'

©) 'Mitochond;ia ' - W Transposons :
rerau ‘lbl_l.Dll'@l.Dl.Drj’LlLl Gun@mcrmuu@e)g? A .

@  umiregiy :  ® Gemeadisdr

© snmlLGl-_n.sndun;rﬁtL;n ’ | A(D) Alq.l}'ﬂéTchL}.IdeTSGﬁ

LAFS/18 . e




- 188.

189.

190.

‘What chemical is used in solar cells?

(&)~ Calcium | | | J Cadmium | -
© Potassi.u‘m e (@) Sodium
' (g,lﬂu.l Qedvaafier aTHS Gm@u@un@m ummu@g;guu@élg)g?
@ smofuw C® smdub
©) GunCL_nﬁuJ;b- A ¢ 0] -Garru‘.u_lﬁ)»
N1trous oxide traps how many times more ‘heat than carbondxoxlde‘? -
~ (A)  20times - JSOOtlmes» :
(©€) - 500 times ) . - (D) 50 times
@B EHAWD, STTLIST- L YEManL e cr{sg,cm: u)l.ﬁ.n@ SiPs Qaiusams e Pigrsbd?
A 20wLig o . L B .,300 DL R
© 500wLiG (D) Bowuwg :
Heat of combustion of Hyd_rogen per unit weight is hkoA many times more than that ‘of
. hydrocarbon fuel?. - _ - .
M 2.5 times IR B) 3.5 times
©) 45times . . @ 15 tix'nés o R
R0 @p‘)’lu G L Tl SDGHES mgm_l}gm Grlﬂ;ﬁla)am_ma) SHenL_s@d Qmuum mm;@ryu&nnumm eﬁ!u._
THHMN LDI._[BI@ aiﬁsub? - '
@A) 2.5;01_15:@' o L B 3.5u>|_.r:’.|@t'
© 45wvrmE = I _ o (D} ;l.5mu_réi@
73 - - - LAFS/18
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191. A book “Genetics and the origin of species” was written by
& Th. Dobzhansky " (® G.L. Stebbins

(C) Lamarck E . (D) Darwin

“orlugib HpMeng GQW@T@§Q]®" GTEn mIeney eT(pdwicuit Wi ’

A) g5 Cnisransd B)  g.cr. oA Geinaiv

(©) - wmonia - (D) niean

~ 192.  The scientific name of sea bass

(A)  Artemia Salina o ' Q{ Lates .Cdlcaﬁfer
) (C) Tilapia _Mo's.sambi_ca. ' ..~ (D) Labeo Rohita -

Fumen WBafler 2iflefluicd QL crénan?
(A) 2 Tet S Feneenm | _ (B) . ColL.av Caalafuir

©). @_Gmﬂ&un QuravmblsT ) (}e)nﬁ]uﬂr@l;mﬂLL_rr

193. Which among' the following exhibits buccal incubation? -, .
- M Tilapia . ' (B) Catla Catla
(C). LabeoRohita . .. (D) Mrigal
Epauaarapgie g amGd L emLsmar mass) .;gan_srré@tb?
4  Serubur ' o : B) &;ém &Lwrf

© CedGur Cymdion ’ © Sisre .
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194, - When was .Integ_fated Rural Development Pfo‘gramme (IRDP) ext;/ended to'éll the blocks of . . -

the country? . . - -
) 1978 . . o m/..mso

© 202 - . ® 2000 -

fymo  poRsloarbs oueTiTES '.QI;L_LB-_ (IRDP) ‘aoar  (srEUUSEEEGEL .'Gr(['bg c%dwqéj

efeunésliLCLg?
A 1978 - ® 1980
© 2002 o L (D) 2000

195, © Among.tl_le-se which is not the functions of commercial bank

. I(A) Accepting the deposits R ' - ‘. o “-
4 (B) .‘ A_d\.rancing of Ilo.ans'
M Bgnkers agent and advisor to the government .
! . D Cliea.'tion of ;110ney or credit | |
@ﬁa) o1 cuenfls mm;ﬂuﬁi& Liewfl &ar éla‘)o.) _
A Ginsulllq Hfenw g‘ﬁ)gé Gasrmh@m
B saaphese
) mﬁ:Q ('p%;@ir'r m;bé;_u.b BIFFES Q%Ga)i;aasfr
® e &émﬁss@m_ | .
(_ - _.-._‘75 | LAFS/18
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196. On the eve of India Independence there were nearly — ~— princely states in India.

(A) 562 N 565 -

- (C) 567 . . B - (D) 568
254 wrt &3HETO e HSCUNS ;_r,rﬁ'.t@@ TDEST GTEGmaT &(Bg;ﬁ DITEEHET Q)b S
(A) 562 - ' L ' - (B) 565 '

© 567 . (D 568

197.. Match the following.

(a) Colpscopy . 1.. Joints such \as knge
®) Gastros‘copy 2. . Colon and large iqtestihe.
{c) Afthrbscopy 3. Vaginé and cervix : ‘
~ (d) Colonoscopy 4. . Stomach, intestine
@ ®» ©@ @
3 4 1 2.
® 1 2 3 4
© 4 3 2 1
® 3 4 2 1
QUW@§§|&:. S - .
@ snoGureGsniid 1 pr@edr | o
b) srev_GprevGamig 2. Ganoer opgd QuBREGL S
©  <yispravCaniid 3. yemineny, Quair @are mn
@ GaraGameaCsmis 4 '

@enrueny, Sim@®

@ ® © @

4 3 4 1 2
® 1 2 3 4
© 4+ 3 2 1
@ 3 4 2 i
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198. Flrst and last Indian Governor General of India i is

(A) Lord Mount Batten : - B Nehru
'M Rajagopalachari ~ . (D) Kamara}-
@pﬁu.lrra&'lem WzH mmgum saL @p@m seuirant Qgenyd o
A)  weyer Guit ey : (B) G‘r_b(g
(O @a‘na(‘é&nu rrmrr&&mﬂ' . D .sm_nunggﬁ .

199. Pick out the wrong statement about Raja Ram Mohan Roy
@) Raja Ram Mohan Roy estabhshed the Brahmo Samaj at Calcutta in 1828
He himself adopted a Christianboy S -
_ .(C) . Ram Mohan Roy started the first Bengah weekly Samvad KaumudJ _
(D) * Ram Mohan d.led in Bristol in England in 1833 : '

Rt

'@unamyrrm Gmrrmumu u mgﬂtu BT DD S igd sm_n._eqm
@) | @urgngmo Guonsemgmis 1828—@) mwnaﬁ!@ Qbip SLomELD G,sn'gngeﬁlggrm -

By §rr(§|.n o APss0s6 GRHosEL 5581 aTHSHE Qamansn_rrrr , ‘

{ . - ©  @omd Gmrrmmru_l QuUkISTET angﬁluﬁlcu @gwncu@ cumy @gggmm au)eurrg G&m@ﬁ
' Q,srn_mélsmrm : : » , _

i S o 1833-& @m@wmg urﬂam._m Grszng) QLsHe Sieult mmgppgmn

\
A . . . . . .

3

. 200. 'The Kalabhras uprooted the Tamil Kingdoms m the éecond phase oeniﬁxfy-
(A 2 Century.AD. — 4t Century A.D. ' '
P 3 Century AD. - 6 Century AD.

- (€)' 84 Century AD. ~ 5th Century A.D.
D 2 Century AD.-6% Century AD.

' g ggpsm_an_ @usml..rrmg s LS 5em.u§lumm Q,MI._ @n;og)rrmr@
@A)y 4.9 2y BIDDTETD s daugs EIHORERTE aueny
h B)  £.9. 3z pippran® e Sagl BIHDTET(H aeny
- (©) .6, Seug gnﬁ)g)rraﬁr@ Wpe® Saugl GIDpreRT(H ueny
- ® £.9. 26ug) Qn'ﬁ;g)rrciur@ s baug GADOTERTH ey -
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‘Register
. ’ Number .
2018 o
- H.Sc. Std. |
Time Allowed : 3 Hours] - - [Maximum Marks : 300" .

Read the following -in.s't'ructions carefully before ydu begin to answer the questions.

10.
. 1L
T
13,

- 14,

_ Te

Answer all questions. All questions carry equal marks. A A C o :
You must write your Register Number in the space provided on the top right side of this page. Do not _

- write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers,

You will also encode your Question Booklet Number wi Black jni [ 2int peq in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per commission’s notification. . ’

Each question comprises four responses (A), B), (C) and ‘(D). You are to select_ ONLY ONE correct

P00®

You should not remove or tear off -any sheet from this Question'Booklet. You are not allc;'-wed to take -
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of i

examination. After the
igilato ou are allowed to take the Q glet with you only after the ] Xaj
et before the last page of the Question Booklet can be used for Rough Work.
Do not tick-mark or mark the answers in the Question Booklet. ) o
In all matters and in cases of doubt, the English version is final.

VIg1

"Applicants have to write and ghade the total number of answer ﬁelds Ieft‘blahk on the boxes provided

at side 2 of OMR Answer Sheet, An extra time of 5 ‘minutes will be given to specify the number of
answer fields left blank. - A ¢

Failure to comply with any of the above instructions will render you liable to such action or penalty ds

‘the Commission may decide at their discretion.
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